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Question Number : 1 Question Id : 64635027091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0



Brain storming as a method can be used for
(1) Out-of-box thinking
(2) Coherent thinking

(3) (Generate new 1deas 1n the area of interest
(4) Critical thinking

Options:

646350106339, 1

646350106340, 2

6453501068241, =
645350106342 4

Question Number : 1 Question Id : 64635027091 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E250106339. 1

EAE350106340. 2
4350106341, =
EAEZ501062342. 4

Question Number : 2 Question Id : 64635027092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A workshop 1s meant for

(1) Hands — on — experience (2) Listening to scholarly lectures
(3) Learning with interaction (4) Discussing over one's own work
Options:

645350106242 1
645350106344, 2
E4E350106345. =
EAEZ501062346. 4

Question Number : 2 Question Id : 64635027092 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

645350106343 1
645350106344, 2
E4E350106345. =
EAEZ50106346. 4

Question Number : 3 Question Id : 64635027093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Learning objectives mean

(1) Learning experience (2) Concise outcomes
(3) Academic achievement (4) Intended learning outcomes
Options:

645350106347, 1
645350106348, 2
645350106243, 5
EAEZ50106350. 4

Question Number : 3 Question Id : 64635027093 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4EZ50106247. 1
EAEZ501062348. 2
E453501068249. =
45350106350, 4

Question Number : 4 Question Id : 64635027094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For optimising self-learning which of the following motivational principles will be most
helpful?
(1) Using reward and punmishment
(2) Creating scope for fulfilling rel atedness need
(3) Providing scope for satisfying need for competence
(4) Promoting concerns for meeting status needs
Options:
6453501068351, 1
645350106352 2
645350106353 =
645350106354 4

Question Number : 4 Question Id : 64635027094 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350108351 1
4535010683252 2
645350106352
645350106354 4

Question Number : 5 Question Id : 64635027095 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following research types has a potential for enhancing teaching competencies?

(1) Fundamental research (2) Applied research
(3) Impact assessment research (4) Action research
Options:

E453501068355. 1
645350106356, 2
6453501068357, 3
EAEZS0106835E. 4

Question Number : 5 Question Id : 64635027095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106355 1
6453501068356, 2
E4E350108357. 2
EAEZ50106358. 4

Question Number : 6 Question Id : 64635027096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A pilot study 1s also called a

(1) descriptive study (2) feasibility study
(3) correlational study (4) explanatory study
Options:

645350106359, 1
45350108360, 2
EAE3501068361. =
EAEZE0106362. 4

Question Number : 6 Question Id : 64635027096 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106359, 1
453501068360, 2
EAE3501068361. =
EAEZE0106362. 4

Question Number : 7 Question Id : 64635027097 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In research, reliability 1s that quality of a measurement procedure which provides

(1) repeatability and accuracy (2) punctuality and accuracy
(3) accuracy and speed (4) speed and repeatability
Options:

645350106363, 1
EAE350106364, 2
EAEZ50106365. =
EAEZ50106366. 4



Question Number : 7 Question Id : 64635027097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106363 1
645350106364 2
48350106365 2
45350106366, 4

Question Number : 8 Question Id : 64635027098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The fish bowl draw 1s a method of drawing a/an
(1) independent sample

(2) structured sample

(3) non-random sample
(4) random sample
Options:

E4E3501068367. 1
45350106368, 2
645350106363, =
EAEZS0108370. 4

Question Number : 8 Question Id : 64635027098 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106367 1
645350106368 2
483501063269 2
45350108270 4



Question Number : 9 Question Id : 64635027099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A questionnaire that offers no scope for any respondent’s own view 1s called

(1) closed-ended (2) schedule
(3)  open-ended (4) unstructured
Options:

E4E350106371. 1
EAEZS010637E. 2
EAEZ50106373. =
6453501068374, 4

Question Number : 9 Question Id : 64635027099 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6453501068271, 1
BAE350106837E. 2
645350106373 3
45350106374, 4

Question Number : 10 Question Id : 64635027100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In experimental research based studies the observations derived from which of the following

variables are considered for statistical analysis?

(1) Independent variable (2) Dependent variable
(3) Moderator variable (4) Control variable
Options:

EAE350106375. 1
EAEZS0106376. 2
453501068377, =
645350106378, 4

Question Number : 10 Question Id : 64635027100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4EZ50106275. 1
EAEZS010E37E. 2
EAE3501068377. =
45350106375, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501325
Question Shuffling Allowed : Yes

Question Id : 64635027101 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension

Indian organisations have traditionally not considered their human resource as a means of
distinct competitive advantage. Hather, people management has been a big challenge for the
Indian business head. This situation is undergoing a rapid change today; because as Indian
organisations are recognising the need for professional human resource management,
simultaneously there is a growing demand for trained human resource professionals. At
most umversities, business schools have begun to offer specialised, customised courses to
train the human resource professional. Increasingly, organisations are encouraging line
managers to handle human resource responsibilities.

Ancient India was known for its occupation based hierarchy. The ancient Indian text, the
Arthashastra refers to the job description of a supervisor and performance linked pay for
artizans.

It was only after the year 1850 that formal industrial organisations emerged 1n India. But 1t
was only after India became an independent country in 1947 that significant improvement
was witnessed 1n the personnel management policy of business organisations.

After independence, when a mixed economy was encouraged as the Indian growth model,
industrial organisations were broadly classified into public sector and private sector. Since
the public sector units were the recipients of large investments and became the biggest
emplovers, their approach towards personnel management received a lot of attention. The
goal of a socialistic society enshrined within the constitution of India implied that the
protection of human resource became a significant objective. Many constitutional provisions
were created in order to protect workers. Organisations had to appoint welfare officers to
take care of all personnel.

The next phase of development saw the rise of the trade unions, and manager unions in the
Indian business organization. This further boosted the growth of personnel offices in most
organisations.

Sub questions

Question Number : 11 Question Id : 64635027102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



More and more organisations are encouraging their line managers to handle
(1) the whole organisation

(2) the responsibilities of human resource

(3) the offices of jumors

(4) the public relations

Options:

6453501062379 1
645350106380 2
645350106381, =
6453501063582 4

Question Number : 12 Question Id : 64635027103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The competitive advantages of human resource has NOT been

(1) understood in the past (2) realised in the present
(3) ignored in the past (4) planned for the future
Options:

E453501062383. 1
645350106384, 2
645350106385, =
EAEZS0106356. 4

Question Number : 13 Question Id : 64635027104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The hierarchy system in ancient India was based on

(1) the job you did (2) the family you belonged to
(3) the place yvou lived in (4) the year of your birth
Options:

6453501063587, 1
EAEZS010638E. 2
EAE3501062389. =
EAE3501082330. 4

Question Number : 14 Question Id : 64635027105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Significant improvement was seen in the personnel management policy of business

organisations after

(1) 1850 (2 1857
(3) 1940 4 1947
Options:

E4EZ501062391. 1
EAEZ50106392. 2
E4E535010683393. =
6453501063594, 4

Question Number : 15 Question Id : 64635027106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Personnel offices in many organisations witnessed an increase because of

(1) independence of India (2) 1ndustrial development
(3) the rise of umons (4) worker-friendly policies
Options:

E4E350106395. 1
EAE35010683396. 2
6453501063397, 2
453501068335, 4

Question Id : 64635027101 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cestion Label | Comprehiension
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Sub questions

Question Number : 11 Question Id : 64635027102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT ATeA ARA-TH Rl FT Haras s o ag@r e @ 27

(L)  =eg e

(2)  HFE HHEE F e F f9ieH & oo
(8)  FHHEI F FHGA

@)  H-TE

Options:

645350106379 1
645350106380, 2
645350106381, 2
4835010632582 4

Question Number : 12 Question Id : 64635027103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E3501063583. 1
EAEZ50106384. 2
E453501068385. =
453501068256, 4

Question Number : 13 Question Id : 64635027104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4EZ501062587. 1
EAEZ50106388. 2
E4E535010682389. =
45350106330, 4

Question Number : 14 Question Id : 64635027105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 1850 (2) 1857
3) 1940 @ 1947
Options:

E45350106823591. 1
45350106332, 2
6453501068333, 3
E4E350106394. 4

Question Number : 15 Question Id : 64635027106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAEZ50106396. 2
6453501068397, =
E4535010683958. 4

Sub-Section Number: 3
Sub-Section Id: 6463501326
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635027107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

We listen attentively to and favourably interpret messages which boost our self image, and

reject or misinterpret messages which threaten that image. This is called:

(1) communication selectivity

(2) change resistance

(3) 1mage rationalisation

(4) communication distortion
Options:

645350106393, 1
E4E350108400. 2
E4E350106401. =
EAE35010640Z. 4

Question Number : 16 Question Id : 64635027107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350106399. 1
EAEZ50106400. 2
645350108401, =
6453501068402, 4

Question Number : 17 Question Id : 64635027108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Gate keeping by media to ensure what audiences consume is indicative of
(1) The audiences’ voice in media programming

(2) Media's control on society

(3) Feedback received by the media

(4) Media's role in creating culture
Options:
646350106403 1
646350106404, 2
646350106405, 3
6463501064086, 4

Question Number : 17 Question Id : 64635027108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6483501084032 1
645350106404 2
645350106405 5
645350106406, 4

Question Number : 18 Question Id : 64635027109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : The ‘arts’ have grown out of the fundamental desire and need to
communicate
Reason (R) : Language 1s inseparable from culture which is its very source of

sustenance and fundamental to communication

Choose the correct option:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (4)
(3) (A) 1s true but (R) 1s false

(4) (A) 18 false but (R) 1s true

Options:
645350106407, 1
645350106408 2



EAE35010640%9. =
EAE350108410. 4

Question Number : 18 Question Id : 64635027109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350106407, 1
645350106408 2
645350106409 =
645350106410 4

Question Number : 19 Question Id : 64635027110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s a characteristic of interpersonal communication?

(1) It 18 both focused and unfocused (2) It 1s not participation friendly
(3) It 1s philosophical (4) Itis metaphorical
Options:

645350106411, 1
EAEZ50106412. 2
EAE350106413. =
E45350106414. 4

Question Number : 19 Question Id : 64635027110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6453501068411, 1
645350106412 2
6453501068413 3
E4E350106414. 4

Question Number : 20 Question Id : 64635027111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3

A teacher while offering feedback in a classroom transaction utters No, you are incorrect’.

This will be called which type of feedback?

(1) Positive (2) Negative
(3) Confirmatory (4) Corrective
Options:

645350106415, 1
45350106416, 2
EAE350106417. =
EAEZ50106415. 4

Question Number : 20 Question Id : 64635027111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350106415, 1
EAEZ50106416, 2
E4E350106417. =
E45350108415. 4

Question Number : 21 Question Id : 64635027112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



IfE =5 and HOTEL = 12, how will you code BALM?

1y 28 (2) 26
@ 16 @ 17
Options:

6453501068419, 1
6453501068420, 2
645350108421, 3
EAEZE0106422, 4

Question Number : 21 Question Id : 64635027112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e B =5 AR HOTEL = 12 &, a1 BALM %l %2 #1 2F1?

1 28 (2) 26
3 16 @ 17
Options:

645350106413, 1
EAEZ50108420, 2
EAE350106421. =
EAE350106842Z. 4

Question Number : 22 Question Id : 64635027113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Rohan gave three-fifth of the amount he had, to Salil. Rohan now has 2000 rupees. How
much did he give to Salul?

(1) 1200 rupees (2) 2000 rupees
(3) 3000 rupees (4) 5000 rupees
Options:

E4E3501068423. 1
EAEZ50106424. 2
645350108425 =
453501068426, 4

Question Number : 22 Question Id : 64635027113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 fomat ais &) ofi?

(1) 1200 s9T, (2) 2000 %9,
(3) 3000 &9¢ (4) 5000 &g
Options:

645350106423 1
45350106424, 2
EAEZ50106425. =
EAEZ50106426. 4

Question Number : 23 Question Id : 64635027114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
40% of the employees 1n a factory are workers. All the remaining emplovees are executives.
The annual income of each worker iz Rs. 39,000. The annual income of each executive is
Rs. 42,000. What 1s the average annual income of all employees in the factory together?

(1)  Rs. 40500 (2) Rs. 40800
(3)  Rs. 41,000 (4) Rs. 41,500
Options:

645350106427, 1
EAEZS0106428. 2
EAE350106429. =
EAE350108430. 4

Question Number : 23 Question Id : 64635027114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

uF bt § 40 yfawd e w0 () §1 I ot FHer wsiagfeen #) ueE wmm i andes
@A™ 39,000 ¥C, 2| UAF WSiFGfed H aiF AF 42,000 W 2| 39 FFd H A F AEa aiE
A 41 22

(1) 40,500 Tqu (2) 40,800 &4,
(3) 41,000 ®9C 4) 41,500 T
Options:

645350106427, 1
6453501068428, 2
645350106423, 5
EAEZ50108420. 4

Question Number : 24 Question Id : 64635027115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sameer walks a certain distance and rides back talking a total time of 40 minutes. He could
walk both ways 1n 60 minutes. How long would 1t take for him to ride both ways?

(1) 15 min (2) 20 min
(3) 28 min (4 30 mn
Options:

E4E350106431. 1
EAE35010843Z2. 2
6453501068433, =
645350106424 4

Question Number : 24 Question Id : 64635027115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gHiT fordfl gt ok Aget srar 2 e mard o aww atedr 2, BoH susl $et 40 fde @ird 21 a2 i A
Yedd ST S @ 60 fHe § w1 961 21 IHF 21 9% galt & 9H @ e die § R oee
AT ?

(1 15fFe (2 20 fFe
(3) 28 foFe (@) 30 fiFe
Options:

645350106421, 1
45350108432 2
EAEZ50108423. =
EAEZ50106434. 4

Question Number : 25 Question Id : 64635027116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At what percentage above the cost price must an article be marked so as to gain 8% after
allowing a customer a discount of 10%?

(1) 18% (2) 20%
(3) 28% 4) 10.8%
Options:

645350106435, 1
45350106436, 2
EAEZ50108427. =
EAEZ50106435. 4

Question Number : 25 Question Id : 64635027116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



uigs 10 yfdwd 6t 92 23 F gvad 8 ufasd @m e w1 % o feft axq 6 amra gew & R
At wfderd w sAfra gea Faifa fen smn smfze?

(1) 18% (2) 20%
(3) 28% (4) 10.8%
Options:

645350106435 1
EAEZS0106436, 2
EAE350106437Y. =
EAE3501068435. 4

Question Number : 26 Question Id : 64635027117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘Students are serious’ is taken to be false then which of the following
propositions can be true?

(a) All students are serious

(b)  All students are not serious

(¢c) Some students are not serious

(d) Some serious ones are not students

Select the correct answer from the options given below:

(1) () only

@  (and @

(3) () only

@ (b and(c)
Options:

645350106433 1
645350108440, 2
E4E3501068441. =
EAEZ5010644%, 4

Question Number : 26 Question Id : 64635027117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



af ket Frenedf i ¥ fea g fomn s o1 Fefafag § § S9-F ok g ad 2
() wft formedf i 2

b) =i feremsl mi 7 3

€ F formedi miw A 2

() % i =T PR A 2

A= fau T faeredi H O @l I g ;
(1) e (a)
@ (b))
3 % (d)
@ b))
Options:

6453501068433, 1
645350106440, 2
645350106441, 5
E4E350106442, 4

Question Number : 27 Question Id : 64635027118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?
Premises:

(a) Some rings are bells

(b) Noringis ornament

Conclusions:

(1)  All bells are ornaments
(2) Some ornaments are not bells
(3) Noringis bell
(4)  All bells are not ormnaments
Options:
453250106442 1
cde3E010ed444. 2

645350106445 5
EAEZ50106446, 4



Question Number : 27 Question Id : 64635027118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A g1 A19E aEd 6u g 7 oY 9 Heed el T 21 Sar el O HEfaiad 9 8@ sH-8 B gy
wq g fArfae 2 aea 27

HTHEE 19 -
(a) F® AT bieAl 8

(b) T ALS AT AE 2

Fowe
(1) =t spfear sangyor 2 (2) F® Ay gfeai 78 2
(3) g I A A 2 (4) =t |feAi sAnpy AE 8
Options:

6453501068443, 1
645350106444 2
645350106445 5
EAEZ50106446, 4

Question Number : 28 Question Id : 64635027119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When subject and predicate of both the premises is same but they differ in quality as well as
quantity, it 1s known as

(1) Superaltern (2) Contraries
(3) Contradictories (4) Subaltern
Options:

645350106447, 1
EAEZ50106445, 2
E4E350106449. =
E45350108450. 4

Question Number : 28 Question Id : 64635027119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S Hal AR FE gFI S9R ATl & 99E 2 91 d qUEdT AR 9T H B 2, 39 &1 S 2

(1)  sAfqadEE (2 fawla
(3)  wafdua 4) AHAEY
Options:

645350106447, 1
EAE350106448. 2
E4E350106449. =



EAEZ50106450. 4

Question Number : 29 Question Id : 64635027120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the reasoning in the following argument:

Method of teaching 1n the classroom can be compared to architectural plan of a building’.

(1) Analogical (2) Hypothetical
(3) Inductive (4) Deductive
Options:

6453501068451, 1
645350106452, 2
6453501068453, =
EAE350106454, 4

Question Number : 29 Question Id : 64635027120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefefiaa 3fe d a i wz=m fifso;

‘e H forerr ugfa i ge vk weH i wae A o i S geedt 2
(1) q1eyd Hedh (2) Ui TeH
(8)  HAFHATHS (@ P
Options:

645350106451, 1
6453501068452, 2
E4E350108453. =
EAEZ50106454. 4

Question Number : 30 Question Id : 64635027121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All birds are cows’ 1s equivalent to which of the following propositions?
(a) Some cows are birds
(b) Some cows are not non-birds

(c) Some birds are cows

(d) Many birds are cows
Select the correct answer from the options given below:

(1)  (a) only

(2) (¢) and (d)

(3)  (a), (b), (c) and (d)
4)  (d) only

Options:

648350108455 1
453501068458 2
45350106457, 5
645350106458 4

Question Number : 30 Question Id : 64635027121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aF as ‘ot ffea ma & Fefafga adasd 4 9 fFas aam 22
(@) F® T g 2
(b) % T -ferfeEn A 2
© T fofgan = 2

(d) sgd =i f=igar T 2
il feu o faecdi § O 3t 39 w1 =9 fifse

(1)  *ad (a)
2 (o) =)

3 @, b)), © AW
@ ()

Options:

648350108455 1
453501068458 2
645350106457, o
645350106458 4



Sub-Section Number: 4
Sub-Section 1d: 6463501327
Question Shuffling Allowed : Yes

Question Id : 64635027122 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Consider the following table that shows percent profit earned by company ABC and company
XYZ during the vear 2011-2016.

Answer the questions based on the data contained in the table:

Year Percent profit earned Percent profit earned

by company ABC by company XYZ
2011 50 55
2012 70 60
2013 50 45
2014 40 50
2015 60 50
2016 &0 75

Sub questions

Question Number : 31 Question Id : 64635027123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the profit earned by company ABC in the year 2015 was Rs. 6,60,000, what was the total
income of the company in that year?

(1 11,000,00 (2) 14,300,00
(3 17,600,00 (4) 20,900,00
Options:

645350106453, 1
EAEZ50108460. 2
E4EZ50106461. =
EAE35010684682. 4

Question Number : 32 Question Id : 64635027124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the income of company ABC in 2013 and that in 2015 were equal and the amount invested
in 2013 was Rs. 8,00,000 what was the amount invested in 2015?

(1) 7,50,000 (2) 9,00,000
(3) 10,50,000 4 12,00,000
Options:

645350106463, 1



EAE350106464. 2
645350108465, =
453501068466, 4

Question Number : 33 Question Id : 64635027125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the amount of profit earned by company XYZ in 2012 was KHs. 9 lakh, what was the total
investment?

(1) 12,00,000 (2) 15,000,000
(3) 16,00,000 (4) 18,00,000
Options:

E4E350106467. 1
EAE3501084688. 2
645350106463, =
45350108470, 4

Question Number : 34 Question Id : 64635027126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If each of the compames ABC and XY7Z invested Hs. 20 lakh in 2014, what was the average
profit earned by the two companies?

(1) Rs. 8 lakh (2) RERs. 10lakh
(3) KHs. 9lakh (4) Rs.12lakh
Options:

6453501068471, 1
645350108472, 2
645350106473, 5
EAEZ50106474, 4

Question Number : 35 Question Id : 64635027127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the amounts invested by the two companies in 2015 were equal, what was the ratio of the
total income of company ABC to that of company XYZ in 2015

(1) 5:6 2y B:s
(3) 15: 16 @ 16:156
Options:

E4E350106475. 1
EAEZ50108476. 2
645350106477, 2
453501068475, 4

Question Id : 64635027122 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



a9 2011-2016 =+ = ABC 21T XYZ #Faf4i g1 At gfaed ot &1 g9iH Jiell Hefaigd arfast ™
ferem ifeg)
darferel § 6T 70 SRl & TN 9T YgHl il UL A

ad  ABC &9l g e aw ufawg XYZ w91 grn 2afsia o gfdwa

2011 50 55
2012 70 60
2013 50 45
2014 40 50
2015 60 50
2016 80 75

Sub questions

Question Number : 31 Question Id : 64635027123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afe ABC &9+ gro rfSia @™ a9 2015 # 6,60,000 &9 o 4t 39 a9 d F & Fa A3 741 o?

(1) 11,000,00 (2) 14,300,00
3) 17,600,00 (4) 20,900,00
Options:

645350106453, 1
E4E3501084E0. 2
4350106461, =
EAE350106462. 4

Question Number : 32 Question Id : 64635027124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7l &9 2013 W 2015 W ABC FeFT & ™ smW o 2T 2013 # faw € af¥ir 8,00,000 4 off =
2015 W fraw i =i afyr F@w oy e

(1) 7,50,000 (2) 9,00,000
(3)  10,50,000 (4) 12,00,000
Options:

E4E350106463. 1
6453501064684, 2
645350106465, =
45350106466, 4

Question Number : 33 Question Id : 64635027125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afg XYZ &t gra aafsia e 6t afet 20124 9 @@ w93 o, 39 a1 Raw fraan an?

(1) 12,00,000 (2) 15,00,000
(3) 16,00,000 (4) 18,00,000
Options:

E4E3501084E7. 1
EAEZ50106468. 2
EAE350106469. =
E4E350108470. 4

Question Number : 34 Question Id : 64635027126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Afe ABC &t XYZ #afai § & udis 3 ad 2014 § 20 «rg w3l #1 Haw frn, aH1 st gro s
5 rors | e )

(1) 8dmw =& (2) 10« &.
(3) 9w s, (4) 124 &.
Options:

645350106471, 1
EAE350108472. 2
EAEZ50106473. =
EAE3501068474. 4

Question Number : 35 Question Id : 64635027127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MG v 2015 | ZFT FaFET g0 Faw $ = afiet aam oOf af a 20159 ABC @i XYZ #afai 6 Fa
AF AT T4 U7

1)y 98 (2 6:5
(3) 15: 16 4 16:15
Options:

6453501068475, 1
45350106476, 2
EAEZ50106477. =
EAEZ50106475. 4

Sub-Section Number: 5
Sub-Section I1d: 6463501328
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635027128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following hardware was used by the first generation computers?

(1) Transistors (2) Vacuum tubes
(3) VST (4) Integrated circuits
Options:

E4EZ50108473. 1
EAEZ501064580. 2
6453501084581, =
6453501064582, 4

Question Number : 36 Question Id : 64635027128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wor gl Fege g Fefafiaa § & &9 o1 gEaat s=En § @ = an?

1)  gifwed (2) SFgH
(3)  diueemang @) 3fere afde

Options:
452350106479, 1

EAEZ50106450. 2
EAE35010684581. =
6453501068452, 4

Question Number : 37 Question Id : 64635027129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Computer uses which number system to store data and perform calculations

(1)  Binary (2)  Octal
(3) Decimal (4) Hexadecimal
Options:

6453501064583, 1
6453501064584, 2
E4E350108485. =
EAEZ50106456. 4

Question Number : 37 Question Id : 64635027129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

ARG T AR TOHT i & fIT Foge grn W S Yo 37

(1) = (2) @A
3  fma (4) FFEERma

Options:



E4E350106453. 1
E4E35010684584. 2
6453501068485, =
645350106456, 4

Question Number : 38 Question Id : 64635027130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 15 meant by the term RAM?
(1) Memory which can only be read

(2) Memory which can only be written to
(3) Memory which 1s used for permanent storage

(4) Memory which can be both read and written to

Options:

645350106487 1
645350106488 2
648350106439 =2
45350108490, 4

Question Number : 38 Question Id : 64635027130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RAM 1g =l 341 2AfymE 2?

(1) wEh A e ger S g% 2

(2)  "E f9Y aa o & S a2

(3) T o curEl auz F foe s R S 2
(4)  =Ed e ger ot e o ot s g 2

Options:

E4E350108487 1
E4E350106488 2
6453501064589 5
45350106430, 4

Question Number : 39 Question Id : 64635027131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an address that specifies the location of a web page?
(1) URL (2) DNS
(3) HTML 4 HTTP



Options:

645350106491 1
648350106492 2
453501068492 =2
645350106494 4

Question Number : 39 Question Id : 64635027131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s &5 U9 f ArevA w5 faffde s aren gar s 20

(1) URL (2) DNS
(3) HTML 4) HTTP
Options:

E4E3501064391. 1
EAE350108432. 2
6453501068433, =
645350106434 4

Question Number : 40 Question Id : 64635027132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following mobile payment application is developed by the National Payments
Corporation of India based on UPI?

(1) MYGOV (2) BHIM
(3) UMANG (4) PhonePe
Options:

645350106435, 1
45350106436, 2
EAEZ50108437. =
EAEZ50106435. 4

Question Number : 40 Question Id : 64635027132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UPI w ananfa fFefafaa § 4 &7 w1 geEa THe uitasas agl wan B (NPC) g fasfia ferar

T 87

(1) MYGOV (2) BHIM
(3) UMANG (4) PhonePe
Options:

645350106435, 1
453501068436, 2
E4E350108437. =
EAEZ50106435. 4

Question Number : 41 Question Id : 64635027133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are features of Paris Agreement?
(a) The agreement focuses on mitigation measures for environmental pollution

(b) The agreement recognzes the principles of equity and common but differentiated
responsibilities

(c) Paris agreement pertains to 2020 climate actions

Select the correct answer:

(1)  (a) and (b) only (2) (a), (b) and (c)
(3) (b) and (c) only (4) (a)and (c) only
Options:

E4E3501064399. 1
EAE350108500. 2
6453501068501, =
6453501068502, 4

Question Number : 41 Question Id : 64635027133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefifia @ @ afe arghd 6 e #5922

(a) 7 TwEial gEianr yenu § H % IUEil 9 eaH Hfpa e 2

(b) 9z ouEitar gy <R ke & fgeal i vgem war 2 W i gt Re- e g 2
(c) Ui audar grafraa 2 2020 % Siag gEadd o

TRl IUL gy

1)  F= (a) A b) 2 (@), b))
@  F b) HE© 4 FF (a) AT (c)
Options:

6453501084593, 1
645350108500, 2
6453501068501, =
64535010850z, 4

Question Number : 42 Question Id : 64635027134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s considered as a secondary air pollutant?

(1) Nitric oxide (2) Ozone
(3) Sulphur dioxide (4) Carbon monoxide
Options:

645350108503, 1
E4EZ50108504, 2



EAE350106505. =
EAE5350108506. 4

Question Number : 42 Question Id : 64635027134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFeffiaa & & fraent o o s | St 22

()  Ffgw wAfFmss (2) AN
(3) Tl 213 ATHATEE (4) HEA AHGEES
Options:

E4E3501068503. 1
645350108504, 2
6453501068505, 2
45350108506, 4

Question Number : 43 Question Id : 64635027135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Indian government’s target for share of renewable energy in the total installed capacity of

electric power in India by the vear 2030 is

(1) 20% (2y 30%
(3) 40% @ 50%
Options:

E4E3501068507. 1
EAEZ501068508. 2
645350108509, =
E45350108510. 4

Question Number : 43 Question Id : 64635027135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UG GTRE g ad 2030 a% und | fazpa ufe 6 $a oeafia gmar 4 Adiwofm s & fagd =
feraAT @& 27

(1 20% (2) 30%
(3) 40% (4) 50%
Options:

E4E3501068507. 1
645350108508, 2
6453501068509, =
45350108510 4



Question Number : 44 Question Id : 64635027136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Amongst the following, which is better suited for dumping of nuclear waste?

(1) Salt mines (2) Deserts
(3) Forests (4) Oceans
Options:

E4E3501068511. 1
EAE3501068512. 2
645350108513, =
645350106514, 4

Question Number : 44 Question Id : 64635027136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T el I 9w % g Fefataa § 4 si-a1 gaiias 39w 27

(1) AU @H (2) HEYUA
3 = 4) 5
Options:

6453501068511, 1
EAEZS0108512. 2
E4E350106513. =
E453501068514. 4

Question Number : 45 Question Id : 64635027137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The long term effect of cutting down of trees 1n large areas of rain forests 1s

(1) Inereased rain fall in those areas
(2) Decreased rain fall in those areas
(3) Increase in wind speeds 1n those areas

(4) Increased rate of soil erosion in those areas

Options:

645350106515 1
645350106516 2
648350106517 2
45350106518 4

Question Number : 45 Question Id : 64635027137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aui-Sel & % AT 23 H FHT Al F R S F A e 2
(1) A &0 | ani % ufwmo d gfy

@ A & F A F afmror e
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Options:
645350106515, 1

EAE3S0108516. 2
EAE3501068517. 3
EAEZ501068515. 4

Question Number : 46 Question Id : 64635027138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(Generally who 1s the visitor of central universities of India?

(1) Prime Minister of India (2) Minister, MHRD
(3) President of India (4) UGC Charman
Options:

6453501065149, 1
45350108520 2
E4EZ501068521. =
EAEZ50106522. 4

Question Number : 46 Question Id : 64635027138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AMAR A wre d i fvafnedi w@ Al w99 37

(1)  9THE = 99 J@:f (2) HFE T fawm 5
(3)  HEE wH wgfd (4) favafaena sHgH AR 1 awE
Options:

6453501065149, 1
645350108520, 2
645350108521, 3
EAEZ50106522. 4

Question Number : 47 Question Id : 64635027139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which discipline has the highest percentage of enrolment in the higher education of India?

(1) Arts (2) Science
(3) Commerce (4) Technology and Engineering
Options:

645350108523, 1
6453501068524, 2
645350108525, 5
EAEZS0108526. 4

Question Number : 47 Question Id : 64635027139 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) el (2) fagm
(3)  arfEg (4) Si=nfER ua et
Options:

E4E3501068523. 1
645350108524, 2
6453501068525, 5
45350108526, 4

Question Number : 48 Question Id : 64635027140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Below are given two columns. Column — A presents the stream of courses and column — B

presents the name of courses. Match the two columns

Column- A Column-E
(Stream) (Name of courses)
(a) Professional (1) Engneering Architecture
(b) Academic (1) Carpentering, Sewing
() Technical (n1) Medicine, Law
(d) Skill based (iv) Arts, Commerce

Choose your answer from the options given below :

1) (@-ai); G)-@); ©-0; D-av)
@) (@-1); (b)) ©-av); (d)-0)
@) @-0); b-@); -m); d-av)
@ (@-aii); b)-av); ©)-0; -



Options:

645350106527 1
48350106528 2
45350108529 =2
645350106520, 4

Question Number : 48 Question Id : 64635027140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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1) @-Gi); G)-G); ©-0; @-av)
@ (@-G); (b)-ai); ©-av); ([D-0)
@ (@-0); G-@); ©-a); (d-av)
@ (a)-ai1); (b)-Gv);, ©-0); d)-i)

Options:
E4E350106527. 1

EAEZS010852E. 2
EAEZ50106529. =
EAEZ501068530. 4

Question Number : 49 Question Id : 64635027141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following indicate the pillars of learning contained in the UNESCO Report,
1996, “Learning the Treasure Within”.

(a) Learning to know

(b) Learning to be

(c) Learning tolearn

(d) Learning to understand
(e) Learning to live together

Choose your answer from the options given below :

(1) (&, b), © and (d) (2) (a), (¢), (d) and (e)
(3) (b), (), (d) and (e) @ (&), (b), () and (e)
Options:

6453501068521 1
6453501068532 2
645350108533 5
EAEZS010685234. 4

Question Number : 49 Question Id : 64635027141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
At 7 Zee faf gt foard, 1996 d Frafafiga 8 @ @« & stirm wrat Frs=a 37
(@) FH % forg =i
b) & % oo dhgn
©) =A™ F fou g
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1) (&), b), © @) 2 (a), (), (d) = ()
@ M), ©, @ = () 4) (a), (), () &K (e)
Options:

E4E3501068531. 1
EAEZ50106532. 2
EAE3501068533. =
6453501068534, 4

Question Number : 50 Question Id : 64635027142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements explains the concept of gross enrolment ratio?

D
(2)

(3)
@)

Options:

Total number of students divided by the total population

Total number of enrolled students of a particular age group divided by total
population of that age group

Total number of students divided by the total number of children not admitted to the
mstitution

Total number of students not admitted to the institution divided by the total number
children of that age-group

E4E350106535. 1
EAE350108536. 2
6453501068537, 2
6453501068538, 4

Question Number : 50 Question Id : 64635027142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6453501068535, 1
645350108536, 2
EAEZS0108537Y. 2
EAE350106538. 4
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Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 64635027143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is NOT a correct match?

I, Fabianism Peaceful Change
2. Guild Socialism Professional Representation
3. Syndicalism Trade Unionism
4. Democratic Socialism Radical Change
Options:

E4E3501068539. 1
EAE350108540. 2
6453501068541, =
E45350106854Z. 4

Question Number : 51 Question Id : 64635027143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501068523 1
EAEZ50108540. 2
E4E350106541. =
EAE350106854Z. 4

Question Number : 52 Question Id : 64635027144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Karl Marx, the founder of Marxism, formally was the citizen of which one of the
following countries?

1. Germany

2. France
Z 3 UK

4.  None of the above

Options:

645350106543 1
645350106544 2
648350106545 =
45350106548 4

Question Number : 52 Question Id : 64635027144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350106542 1
645350106544 2
645350106545 =
645350106546, 4

Question Number : 53 Question Id : 64635027145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one among the following 1s NOT related to Neo-Marxism?
1.  Jurgen Habermas
2. Ened Fromm
3.  Herbert Marcuse

4. Rosa Luxemburg



Options:

645350106547 1
48350106548 2
45350106549 =
645350106550, 4

Question Number : 53 Question Id : 64635027145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 § B T9-HIaTE 3 Y T8 82
1. OfiF gasE™
2. URS WA

3. g9C "IEge
4. ol dFEHE

Options:
42350106547, 1

EAEZ50106548. 2
6453501068549, =
645350108550, 4

Question Number : 54 Question Id : 64635027146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Feminists argue that women’s values are based primarily on
1.  Religious laws
2. Prescribed social roles
3. Biology and prescribed social roles

4. Biology

Options:

645350106551 1
645350106552 2
648350106552 =
45350108554 4

Question Number : 54 Question Id : 64635027146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350108551, 1
645350106552 2
645350106553 =
645350106554 4

Question Number : 55 Question Id : 64635027147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who authored the book, Silent Spring?
1.  Frank Thone
2. Raymond L. Bryant
3.  Rachel Carson

4. Roy Rappaport

Options:

645350106555 1
648350106558 2
453501068557 2
645350106558 4

Question Number : 55 Question Id : 64635027147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E350106555. 1
EA5350108556. 2
645350108557, =
6453501068558, 4

Question Number : 56 Question Id : 64635027148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The immigrating ethme cultural groups which never get opportunity to become citizens
under multiculturalism are called :

T Metics
2. National minorities
3. Immigrant groups

4. Isolationist ethno-religious groups

Options:

645350106559 1
48350106560, 2
45350106561, =2
45350106562 4

Question Number : 56 Question Id : 64635027148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

48350108559 1
453501068560, 2
645350106561, 5
645350106562 4

Question Number : 57 Question Id : 64635027149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who wrote the book, Multicultural Citizenship : A Liberal Theory of Minority Rights
(1995)?

1. T H Marshal
L B S Turner
3. Will Kymlica

4.  Bheekhu Parekh
Options:
E4de350108562. 1
42350106564, 2
646350106565 3
46350106566, 4

Question Number : 57 Question Id : 64635027149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. < o= A
2. ®uE.TR
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Options:

645350106562 1
645350106564 2
645350106565 =
48350106566 4

Question Number : 58 Question Id : 64635027150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II

List-I List—II
(a)  Late Capitalism (1)  Michel Foucault
(b)  Deconstructiomsm (11)  Fredric Jameson

(c)  Collapse of grand Narrative (11) Jacques Derrida

(dy  Concept of knowledge and (iv) Lyotard
power

Choose the correct option from those given below :
L. (a)-); (b)—(u); (e)}-av); (A1)
2. (a)-); (b)~av); (c)—(u); (d)uu)
3. (a-); (B)-av); (¢)-Q); (d)-(m)
4. (@-v); (0)-(); (e)-(u1); (d)—(11)
Options:
646350106567, 1
£46350106568. 2

E4E350108569. =
EAEZ50106570. 4

Question Number : 58 Question Id : 64635027150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L. (a)-(); (b)—u); (c)-Qv); (1)
2. (a-Q); (D-v), (-, (d)-(m)
3. (a)-Q); (b)-(v); (¢)-(1); (d)-(1i)
4. @), (0)-1); (e)-1i); (d)-(11)

Options:

645350106567 1
645350106568 2
48350106569 2
45350106570 4

Question Number : 59 Question Id : 64635027151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Making someone better without making others worse” 1s associated with which one of
the following?

1.  Pareto’s principle of Optimality
2. Nozck’s principle of Entitlement
3.  Foucault’s principle of Power

4. Rawls’s principle of Distributive Justice

Options:

645350106571 1
645350106572 2
6483501065732 2
453501068574 4



Question Number : 59 Question Id : 64635027151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E2E0108571. 1

EAEZS0106572. 2
EAE3501068573. 3
EA5350108574. 4

Question Number : 60 Question Id : 64635027152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is incorrect with regard to post modernism?
1.  Primacy of consumption instead of knowledge
2. Deconstruction of totality
3. Commonality to greatness

4. Historical tendency

Options:

645350106575 1
645350106576, 2
645350106577 2
48350106578 4

Question Number : 60 Question Id : 64635027152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350106575 1
645350106576 2
645350106577 2
645350106578 4

Question Number : 61 Question Id : 64635027153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Dialectic method was used for the first time in the writing of which one of the
following thinkers?

| Socrates
2. Plato

3. Hegel

4.  Marx

Options:
E4E350106579. 1

EAEZS0108580. 2
E4E350106581. =
EAE3501068582. 4

Question Number : 61 Question Id : 64635027153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E4E3501068573. 1
EAE350108580. 2
6453501068581, =
6453501068582, 4

Question Number : 62 Question Id : 64635027154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A): In Machiavellian thought end justifies the means.

Reason (R):  The key objective of the Prince was to bring unity and integrity of the
State.

On the basis of the two statements choose the correct answer from the options given
below :

1. Both (A)and (R) are true and (R) is the correct explanation of (A)

2.  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue but (R)1s false

4. (A)is false, but (R) 1s true

Options:

645350106583 1
48350106584 2
453501068585 =2
645350106586, 4

Question Number : 62 Question Id : 64635027154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501065582 1
645350106584 2
645350106585 =
645350106586, 4

Question Number : 63 Question Id : 64635027155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who stated that the life of man is solitary, poor, nasty, brutish and short?
1.  Machiavelli
2. Hobbes
3. Locke

4. Roussean

Options:

645350106587 1
645350106588 2
6453501065893 2
E4E350108590 4

Question Number : 63 Question Id : 64635027155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106587 1
48350106588 2
45350106589 =2
645350106590, 4

Question Number : 64 Question Id : 64635027156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The English think they are free. They are free only duning the election of members of
parliament.” Who said this?

1. J. S. Mill
2. T. H. Green

3. Locke

4, Rousseau

Options:

645350106591 1
6483501085392 2
45350106592 5
645350106594 4

Question Number : 64 Question Id : 64635027156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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6453501068591, 1
EAE350108592. 2
EAE3501065393. 2
EAE350106594. 4

Question Number : 65 Question Id : 64635027157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who stated that placing restrictions on freedom of expressions of human beings is like
robbing off the present and the future races?

i

J. S, Mill
2. John Locke
3 [saiah Berlin

4. F. A. Hayek

Options:

645350106595 1
645350106596, 2
645350106597 2
645350106598 4

Question Number : 65 Question Id : 64635027157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350106595 1
645350106596, 2
645350106597 =
645350106598 4

Question Number : 66 Question Id : 64635027158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who said that art, religion and philosophy differ only in form, their purpose is the
same?

1.  Georg Lukacs
2. Sartre
3. Hegel

4. Erik Olin Wright

Options:

48350108599 1
45350106600, 2
645350106601, 5
645350106602 4

Question Number : 66 Question Id : 64635027158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

648350108599 1
453501066800, 2
645350106601, 5
45350106602 4

Question Number : 67 Question Id : 64635027159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who 1s the writer of the book, 4 Great and Terrible World?
1.  Antonio Gramsci
2. Hannah Arendt
3. Hegel

4, John Rawls

Options:

645350106602 1
645350106604 2
645350106605 =
645350106606, 4

Question Number : 67 Question Id : 64635027159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350106603 1
48350106604 2
45350106605 =2
45350106606, 4

Question Number : 68 Question Id : 64635027160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Black Skin, White Masks 1s wriften by
1.  Gramsci
2. Hamnah Arendt
3.  Frantz Fanon

4. Wollstonecraft

Options:
E4E350106607. 1

EAEZS0106608. 2
EAEZ50106609. =
EAEZ50108610. 4

Question Number : 68 Question Id : 64635027160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1. et
2. gWaME
3. Wid B

4.  dORHDUT

Options:

645350106607, 1
645350106608 2
48350106609 =2
45350106610, 4

Question Number : 69 Question Id : 64635027161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who said that political work 1s the life blood of all econormic work?
1. John Rawls

2. Mao Zedong
3.  Karl Marx

4. Frantz Fanon
Options:
645350106611, 1
463501068612, 2
46350108613, 3
£46350108614. 4

Question Number : 69 Question Id : 64635027161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

foa= el ¢ & Torias o1l g ftfe o/ o1 Sias o &7

1. @

2. W3 SIS
3. @Id Hed
4. B B

Options:

453501068611, 1
645350106612 2
6453501066132
645350106614 4

Question Number : 70 Question Id : 64635027162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Idea of Justice as fairness in Rawlsian theory flows from

1. individual
2.  society
3. State

4.  Nation

Options:
E4E250106615. 1
E4E350106E616. 2



EAEZ50106617. =
45350108615, 4

Question Number : 70 Question Id : 64635027162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U & fgid & 1 Rwear & aR s vae g

1. S
2. HHH
3. T9dH
4. TEY

Options:

E4E350106615 1
45350106616 2
645350106617, 5
45350106618 4

Question Number : 71 Question Id : 64635027163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A): According to Gandhi, politics divorced from religion is a deathtrap.

Reason (R):  The entry of religion into politics 1s necessary because without religion
1t may take communal colour.

On the basis of the two statements choose the correct answer from the options given
below :

1. Both(A)and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue but (R)1s false

4. (A)1s false, but (R) 1s true
Options:
646350106619, 1
646350106620, 2
646350106621, 3
£46350106622. 4



Question Number : 71 Question Id : 64635027163 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 3l py= feu e & fFH @ ue afieue (A) B eIRTEU a6 (R) Bl
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4. (A) TOdE WYR) T e

Options:

C4EZE0106519 1

C4EZE0106620. 2

EAE350108621. =
453501068622 4

Question Number : 72 Question Id : 64635027164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following writings were associated with Muhammad Igbal ?
(a) Tarana-e-Hind

(b}  The Reconstruction of Religious Thought in India

(¢) Historical Role of Islam

(dy The Bang-e-Dara

Select the correct answer from the given options :

1. (a), (b)and(c)
2. (a), (c) and (d)

3. (a), (byand(d)
4. (b),(c)and (d)

Options:

645350106622 1
645350106624 2
645350106625 =
645350106626, 4

Question Number : 72 Question Id : 64635027164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o ° @ F- T v seaa 3 d96fig
(a) av-u-fde
(b) @ Rexgerr sifw Rivfomy dic 37 3fea
() T FErRioa I 3ie swH
(d) TT-TIR
feu U faweul § 9 9 IR @1 99 S ;

L. (a), (b) 3R (c)

2. (a),(¢) IMR(Q)

3. (a), (b) 3R (@
4. (b),(c) ¥R (@)



Options:

645350106623 1
48350106624 2
453501066825 =2
645350106626, 4

Question Number : 73 Question Id : 64635027165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Integrated humanism means
(a) Human life is not isolated
(b) Harmony among individual, society and nation
(¢) The essential unity of the man
(d) State 1s superior than Nation
Select the correct answer from the given options :
1. (a), (b)and (c)
2. (a), (b)and(d)
3. (b),(c)and(d)
4. (a), (c) and (d)

Options:

45350106627, 1
45350106628 2
645350106629 =
645350106630, 4

Question Number : 73 Question Id : 64635027165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TSI gHaare a1 4y 8
(a) WG Sl AT 7el &
(b) A, G 3R AP &S ALY FHGR

(c) oHfed &t IS TSl
(d) U9 IPIT=RE
u Redl ©§ 9 98 e o1 997 oo -
L (@, bR @©
2. (a), () IR
3. (), (0) 3R
4. (a), (c) 3MM(Q)
646350106627,
646350106628, 2

EAE350108629. =
453501068630, 4

Question Number : 74 Question Id : 64635027166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many prakrities of Mandal Theory of State are enumerated by Kautilya?

1. 60
2. 68
3. T
4, 72

Options:

645350106631, 1
483501066322 2
453501066322 2
645350106624 4

Question Number : 74 Question Id : 64635027166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hifee gRI TS0 & HUSH [gid &1 foa nafaar g7

1. 68
2. 68
3. W
4, 72

Options:

45350106621, 1
645350106632 2
645350106633 =
645350106634 4

Question Number : 75 Question Id : 64635027167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Pandita Ramabai was accorded the title ‘Pandita’ for
1. social reforms
2. emancipation of women
3.  eradication of caste system

4. being a Sanskrit scholar

Options:

645350106625 1
645350106636 2
645350106637 =
645350106638 4

Question Number : 75 Question Id : 64635027167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

tfsar e of 59 SR uiEgar ot Uiy 3 12
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4.  Hwpd AgF R & SR

Options:



EAE3501068635. 1
EAEZ50108636. 2
645350108637, =
453501068638, 4

Question Number : 76 Question Id : 64635027168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List-II :

List—I List-II
(Books) (Thinkers)

(a)  Marx, Gandhi and Socialism (1)  Aurobindo

(by  Gandhi and Gandhism (11) Rabindranath Tagore

(¢)  Savitri : A Legend and a (111) Ram Manohar Lohia
Svmbol

(d) Gitanjali (iv) B R Ambedkar

Choose the correct option from those given below :
. (a)-(i1); (b)-v); (e)-); (D)
2. (a)-(u); (B)—); (e)—v); (d)(1m)
3. (a)-Qv); (b)- (u); (¢)-(); (d)-1)
4. (a)-(u); (b)-Q); (©)-u); (d-(v)
Options:
646350106639, 1
646350106640, 2

645350106641, =
453501068642 4

Question Number : 76 Question Id : 64635027168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 @I -1 ° GRid Sifo ;
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(T CELED
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(b)  Tieh gug midhow (i) e TR

(¢ wfdf:-chcrswesufma (i) WA Afga
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fe g fdeeai A 9 98 IR &1 99 B :

L. (a)-(i); (b)-v); (c)-(1); (D)
2. (a-(1); ()-W); (©—1v); (D))
3. (a)-(v); (b)- (ui); (0)-@); (d)-1)
4. (@-(u); (b)-); (0)-1); (d)-v)

Options:

645350106639 1
645350106640, 2
45350106641, =
645350106642, 4

Question Number : 77 Question Id : 64635027169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who wrote the biography of Jayaprakash Narayan?
1.  Jayaprakash Narayan himself

2. Ramvriksha Benipun
3.  Vinoba Bhave

4. Namboodirpad
Options:
645350106643 1
645350106644 2
645350108645, 5
645350106646, 4



Question Number : 77 Question Id : 64635027169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SOUHT AR B ATHSGYT fog= fardi?

1. T SaueIR ARE0

2. HFE SHIg
3. fo=er ve

4. TR

Options:

645350106642 1
645350106644 2
645350106645 =2
48350106646, 4

Question Number : 78 Question Id : 64635027170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Gandhi believes in
1.  End justifies Means
2. Means justifies End
3.  Neither End justifies Means nor Means justifies End

4. End and Means both should be justified

Options:

645350106647 1
645350106648 2
6453501066493 =
46350106650 4

Question Number : 78 Question Id : 64635027170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350106647 1
645350106648 2
6453501066493 =2
483501066850 4

Question Number : 79 Question Id : 64635027171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following newspapers are NOT related with Tilak?

(a) Kesan
(b} Maratha
(¢) Sudharak
(d) Harijan

Select the correct answer from the given options :

1. (a)and (b)
2. (b)and (c)
3. (a)and(d)
4. (¢)and(d)

Options:

645350106651 1
646350106652 2
453501066852 =2
645350106654 4

Question Number : 79 Question Id : 64635027171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) HE
(b) W&
(c) YUR®
(d) BRem
fou Tu el & 9 98 IR &1 79 Sifo
1. (a) R (b)
2. ()R
3. (a) 3R ()
4. (¢) 3R (d)
Options:

645350108651, 1
645350108652, 2
645350108653, 5
EAEZ50106654. 4

Question Number : 80 Question Id : 64635027172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Agganna Sutta 1s the
1. 27" Sutta of the Digha Nikaya
2. 27" Sutta of the Majjhima Nikaya
3, 26" Sutta of Samyutta Nikaya

4. 27" Sutta of Anguttara Nikaya

Options:

645350106655 1
48350106656, 2
645350106657, 5
645350106658, 4

Question Number : 80 Question Id : 64635027172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4532501068551

C4EZE0108E5E. 2

EAE3S0108E57Y. 2
EAEZ50106E65E. 4

Sub-Section Number: 2
Sub-Section 1d: 6463501330
Question Shuffling Allowed : Yes

Question Id : 64635027173 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 83)
Cesticn Label | Comprehension

Democratic politics has undergone significant transformation in the last seven decades of
post-independence India. While electoral participation has increased sigmficantly over the
decades, primordial identities as rooted primarily in caste have further strengthened
‘politicization of castes” as well as “casteization of politics’.

The 21°* Century Market State in India has paved the way for a third democratic upsurge.
However, instead of dismantling the primordial. Structures in its pursuit of development, the
Market State seems to be oscillating between populism and governance.

Sub questions

Question Number : 81 Question Id : 64635027174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following used the term “politicization of caste’ in Indian politics for
the first time?

[E—]

Rajni Kothari
2. Yogendra Yadav

3, Sunnder Jodka

4. M. N. Srinivas



Options:

645350106659 1
48350106660, 2
453501066861, =2
645350106662, 4

Question Number : 82 Question Id : 64635027175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT a component of primordialism?
1. Caste
2. Class
3. Community

4. Clan
Options:
E4AE3E0106663. 1
45350106664, 2
645350106665, =
645350106666, 4

Question Number : 83 Question Id : 64635027176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following is/are the exponent(s) of three democratic upsurges in the
democratic politics of India?

1.  Atul Kohli
2.  Lloyd and Susanne Rudolphs
3.  Partha Chatterjee

4, None of the above

Options:

645350106667, 1
E4E350106EEE 2
45350106669 2
45350106670, 4

Question Id : 64635027173 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 83)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 81 Question Id : 64635027174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

0 9 o= Sauw YRA o | S & TeH1aesor YR &1 UhnT s ar?

1. T SR
2. ARk A
3. G Syl
4.  UH.E AiEs

Options:

645350106659 1
645350106660, 2
48350106661, =2
453501066862 4

Question Number : 82 Question Id : 64635027175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 A 8 S1=-91 enfeHar &1 a@ 81 o7
1. S
2. @
3. 9qcE
4.  Pd
Options:

645350106663, 1
EAE350108664, 2
EAEZ50106665. =
EAEZ50106666. 4



Question Number : 83 Question Id : 64635027176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= A B HRA B Adite o # i dedite e U0 o7
1. rga@igdl
2. @GS U3 gl S8
3. urdgest
4, TWREAHTBE T

Options:

645350106667, 1
645350106668, 2
645350106669 =
645350106670 4

Sub-Section Number: 3
Sub-Section Id: 6463501331
Question Shuffling Allowed : Yes

Question Number : 84 Question Id : 64635027177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “ABCD” 1s primarily associated with which one of the following?
1.  Formation of States
Reorgamzation of States

Decentrahzation of States

o

Institutionalization of States
Options:

646350106671, 1

646350106672, 2

646350106673, 3

646350106674, 4

Question Number : 84 Question Id : 64635027177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106671, 1
45350106672 2
645350106673 =
645350106674 4

Question Number : 85 Question Id : 64635027178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which one of the following 1s NOT a classified category of political parties as defined
by the Election Commission of India?

1. National Parties

X State Parties

e

Regional Parties

4.  Regstered (Unrecogmzed) Parties

Options:

E4E350106E675 1
E4E350106E7E, 2
45350106677, o
45350106678 4

Question Number : 85 Question Id : 64635027178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



EAEZ50106675. 1
EAEZS0108676. 2
EAE350108677. =
45350108675, 4

Question Number : 86 Question Id : 64635027179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The demand for ‘Harit Pradesh’ is related to which one of the following regions in
India?

|3 Western Uttar Pradesh
2 Bundelkhand
3. Uttaranchal

4. Vidharbha

Options:

645350106679 1
48350106620 2
453501066881, =2
45350106682 4

Question Number : 86 Question Id : 64635027179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oia v ot /i 7y 7 9 YRA & &9 &7 3 I-iia 2
1. T SRR

Joass
TJTEd
fagH

= e G

Options:

645350106679 1
45350106680, 2
645350106681, =
645350106682 4

Question Number : 87 Question Id : 64635027180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chronologically arrange the following parties in ascending order in terms of their entry
in the democratic politics of India :

(a) Maharashtra Navnirman Sena

(by Telangana Rashtra Samiti

(¢) All India Trinamool Congress

(d) Nationalist Congress Party
Select the correct answer :

L. (a), (b), (c)and(d)

2. (¢, (d), (b)and (a)

3. (¢), (d), (a)and(b)

4. (d), (c), (b)and (a)

Options:

48350106682 1
453501066584 2
645350106685 o
645350106686, 4

Question Number : 87 Question Id : 64635027180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o

Options:



EAE350106653. 1
EAE350108684. 2
645350108685, =
45350108656, 4

Question Number : 88 Question Id : 64635027181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following does not form the basis of difference between voluntary
organizations and NGOs?

1.  Philanthropy
2. Membership
3.  Funding

4.  Commitment to the secular and democratic 1deals
Options:
646350106687, 1
646350106688, 2
646350106689, 3
646350106690, 4

Question Number : 88 Question Id : 64635027181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g 7 @ -9 R IT6 td -G R S6=1 & 54 AT BT 1YR T8 27
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Options:
E45250106687. 1
646350106638, 2

E4AE3501086589. =
45350108630, 4

Question Number : 89 Question Id : 64635027182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The only tribal leader honoured by the Parliament of India through installation of his
portrait in its Museum is
1. Biso
2. Birsa Munda
3.  Kanho
4. Bhagij Naik
Options:
646350106691, 1
646350106692, 2

EAEZS0108633. =
EAEZ501066394. 4

Question Number : 89 Question Id : 64635027182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106691 1
6453501066392 2
483501066392 2
45350106694 4

Question Number : 90 Question Id : 64635027183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is incorrect with regard to the Plan Holidays?
1.  These were short-term contingency plans.
2. The period of these plans was 1966—69.
3. The reasons for these plans were war, inflation and drought.

4. Plan Holidays were introduced due to the failure of all three preceding
Five Year Plans.

Options:

645350106695 1
645350106696, 2
483501066397 2
45350106698 4

Question Number : 90 Question Id : 64635027183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350106695 1
645350106696 2
645350106697 2
645350106698 4

Question Number : 91 Question Id : 64635027184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which from the following 1s the full title of the book written by Hans ] Morgenthau?
1. Politics Among Nations

2. Politics Within Nations
3.  Politics Among Nations : The Struggle for Power and Peace

4. Politics Among Nations : The Struggle for Peace and Power



Options:

645350106699 1
E4E350106700. 2
45350106701, =2
45350106702 4

Question Number : 91 Question Id : 64635027184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 3 T oiH-91 89 9. Arret g fofed gee o1 gl Hike 82
1. Gifefcsd ST =34
2. Ui A A
3. uifefced 3FT A= ; § TId BiX UTaR Uos Ui
4. OifdfceTd ST =24 : § ¥Id Bk Uiy UUS Uae

Options:

645350106699 1
645350106700 2
645350106701, =
645350106702 4

Question Number : 92 Question Id : 64635027185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The “Clash of Civilization thesis means :
1.  Religious clashes would be a core area of study
2. arejection of the cultural and political inhentance of the West
3.  widespread disagreement over moral issues

4. conflict would not be primarily ideological or economic but, rather cultural
in character

Options:

48350106702 1
45350106704 2
645350106705 5
645350106706, 4

Question Number : 92 Question Id : 64635027185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3, e gl WOk srgHi
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Options:

645350106702 1
645350106704 2
645350106705 2
48350106706, 4

Question Number : 93 Question Id : 64635027186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“When diplomacy ends, war begins.” Who said this?
1.  Adolf Hitler
2. Napolean Bonaparte
3.  Hans Morgenthau

4. Mao Tse Tung
Options:
646350106707, 1
646350106708, 2
646350106709, 3
646350106710, 4

Question Number : 93 Question Id : 64635027186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 3Sep feTer
2. FuifeEs SR
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4. HISNE G

Options:
42250106707, 1



EAEZ5010670E. 2
6453501087039, =
45350108710, 4

Question Number : 94 Question Id : 64635027187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is NOT a Violent Non-State Actor (VNSA)?

1. ISIS
2.  Bokoharam
3. PLO

4.  Hezobollah

Options:

645350106711, 1
48350106712 2
45350106712 =2
645350106714 4

Question Number : 94 Question Id : 64635027187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o § 8 o1 Rares T sifived 81 82
1. SIS, U9, 315, T4
2. deH
3. dtud e

4. golEER

Options:

645350106711 1
645350106712 2
645350106713 =
48350106714 4

Question Number : 95 Question Id : 64635027188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is meant by the term “jus in bello’?
1. A justrecourse to war
2. Restricted use of legitimate force
3.  The just conduct of war

4. All of the above

Options:

645350106715 1
645350106716 2
645350106717 =
645350106718 4

Question Number : 95 Question Id : 64635027188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘jus in bello’ Ug ST &1 SATHUTT 27
1. Jg 3R Ik e
2. dY g9 o1 Jiffg wam

3.  gg & Siad SareH

4. Ioged gt

Options:

645350106715 1
E4E350106716 2
48350106717 2
645350106718 4

Question Number : 96 Question Id : 64635027189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is NOT true with regard to BREXIT?
1. BREXIT refers to the UK leaving the European Union

2. Association with EU has incurred huge economic pressure leading to
unemployment in UK

3. Theissue of BREXIT led to the resignation of PM David Cameroon

4. The young voters have primarily voted in favour of BREXIT

Options:
E4E2E01068719. 1



EAEZS01067 20, 2
EAE3501068721. =
43501068722 4

Question Number : 96 Question Id : 64635027189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SfRre & day ® 71 3 8 $19-91 HY= 9 T8l 82
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Options:

645350106719 1
645350106720 2
E4E350106721. 2
E4E350106722 4

Question Number : 97 Question Id : 64635027190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The term “flying bees’ got associated with which of the following associations?
1. ASEAN
2. SAARC
3.  Shanghai Cooperation Organisation
4. BRICS

Options:

E4E350106722 1
45350106724 2
645350106725 o
45350106726 4

Question Number : 97 Question Id : 64635027190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. enfyEE
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Options:

645350106723 1
645350106724 2
E4E350106725 =2
E4E350106726, 4

Question Number : 98 Question Id : 64635027191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Indian traditions is declared recently as ‘Intangible Cultural
Heritage of Humamty?

L. Kumbh
2 Yoga
3. Nouraz

4.  Bihn
Options:
4350106727, 1
G4AG350106728. 2
645350106729 2
645350106730 4

Question Number : 98 Question Id : 64635027191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g & & fo YR Tud &1 81d g 8 'gadl o S 9ikpide [Aaga g1t faar mare

1. @H
2. oW
3. AR

Options:



EAEZ501068727. 1
EAEZS010872E. 2
E4E3501068729. =
453501068730 4

Question Number : 99 Question Id : 64635027192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“The poor are poor... not because of what they do not have, but because of what they
cannot do.” Who said this?

1. Hans Singer

b2

Amartya Sen
3.  Mahboob ul Haq

4. Harsh Mander

Options:

645350106731 1
645350106732 2
483501067322 2
45350106724 4

Question Number : 99 Question Id : 64635027192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fa= gl i, e, = & suferd =81 i 3970 o oo 8 ©, afew suierd & d aar =gt
&Y ghd g7

1. gERTR
2. FA T
3. WEEE IO ED

4. BEHTI

Options:

E4E350106721. 1
E4E3501067322 2
645350106722
645350106724 4

Question Number : 100 Question Id : 64635027193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which International Agreement gave for the ‘first time’ legally binding targets on
reducing Greenhouse Emissions to the countries?

1.  Copenhagen 2009
2. Kyoto Protocol 1997
3.  Durban Conference 2011

4. Rio de Janerio 1992

Options:

645350106735 1
645350106736, 2
E4E350106737. 2
E4E35010672E 4

Question Number : 100 Question Id : 64635027193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fre sreeitta aueid = Tl &1 'Ted! IR FHeIeY I&eH @1 sl R dfie U 8 a1
&g fed?

1. IR 2009

2. A UKISId 1997
3. ST BB 2011
4. fron 13 ofar 1992

Options:

645350106735 1
645350106736, 2
645350106737 o
E4E350106732E 4

Question Number : 101 Question Id : 64635027194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements is true with regard to NPT and CTBT?
1.  India has signed but not ratified NPT.
2. India has signed CTBT.
3.  Indha has signed NPT.

4. India has neither signed nor ratified either NPT or CTBT.



Options:

645350106739 1
48350106740 2
45350106741 =2
45350106742 4

Question Number : 101 Question Id : 64635027194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106729 1
645350106740 2
645350106741 =
645350106742 4

Question Number : 102 Question 1d : 64635027195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

India has signed Comprehensive Economic Partnership Agreement (CEPA) with which
of the following countries?

1. USA
2. Russia
3. Japan
4. Israel

Options:

645350106743 1
645350106744 2
648350106745 =2
E4E35010674E, 4

Question Number : 102 Question Id : 64635027195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. ©MUH
4. IENRA

Options:

645350106743 1
48350106744 2
645350106745 5
645350106746, 4

Question Number : 103 Question Id : 64635027196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

India 1s holding talks with ASEAN to extend which highway to Vietnam?
1. India—~Mvyanmar—Thailand
2.  India—Myanmar—Korea
3.  India-Myanmar-Bangladesh

4. India-Myanmar—China

Options:
E4E350106747. 1

EAEZS010674E,. 2
EAEZ50106749. =
EAEZ50108750. 4

Question Number : 103 Question Id : 64635027196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R F YRA e Tomni 1 figam 9o R &3 3) S o | e?
1. HRO-FAR-UEdS
2. HRG-RIHR-DIE
3. HRG-RIHAR-IAGS

4.  HRI-HHAR-IH



Options:

645350106747 1
48350106748 2
45350106749 =2
645350106750, 4

Question Number : 104 Question Id : 64635027197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Incha was re-elected on the executive board of which of the following UN bodies in
20177

1.  UNESCO
2. UNDP

3. UNICEF
4. UNAID

Options:

645350106751 1
645350106752 2
645350106753 o
48350106754 4

Question Number : 104 Question Id : 64635027197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2017 A g5 TP B A9 H ¥ &9 sHeR] HUSH W HRA S GHHaled a1 T2
1. gl

2. F .S
3. %
4. JUAUE R

Options:

645350106751, 1
645350106752 2
645350106753 o
645350106754 4

Question Number : 105 Question 1d : 64635027198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



India and EU have established which mechamsm for furthering trade ties?

International Facilitation Mechamsm

—

2. Investment Facilitation Mechanmsm
3. Global Facilitation Mechanmism

4, EU-India Facilitation Mechanism

Options:

645350106755 1
646350106756, 2
48350106757 2
45350106753 4

Question Number : 105 Question Id : 64635027198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. rRigh gEne= fearfafy
2. raw gary= fanfafe

Options:

645350106755 1
48350106756, 2
645350106757 5
645350106758 4

Question Number : 106 Question Id : 64635027199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With which country has India signed a long-term agreement for Sukhoi Su-30MKI
combat aircraft fleet?

1. USA
2. Japan
3.  Israel

4.  Russia



Options:

645350106759 1
E4E3501067E0. 2
45350106761, =2
645350106762 4

Question Number : 106 Question Id : 64635027199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. ermdier
2. SMUH
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Options:

E4E350108759 1
E4E3501067E0. 2
645350106761, o
45350106762 4

Question Number : 107 Question Id : 64635027200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Look West Policy of India advocated expansion and extension of India’s relations with
1.  Western Countries

2. European Union
3. West Asian Countries

4. Africa and Latin America

Options:

645350106762 1
645350106764 2
645350106765 o
645350106766, 4

Question Number : 107 Question 1d : 64635027200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106762 1
645350106764 2
645350106765 o
645350106766, 4

Question Number : 108 Question 1d : 64635027201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who 1s the largest G-20 invester country in India?

1. Japan
2. USA
3 g

4.  Braazl

Options:

645350106767, 1
45350106768, 2
645350106769 o
645350106770 4

Question Number : 108 Question 1d : 64635027201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4,  deiE



Options:

645350106767 1
E4E3501067EE 2
45350106769 =2
45350106770, 4

Question Number : 109 Question Id : 64635027202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under the ‘Indus Water Treaty” with Pakistan, India has the exclusive rights over the
Iivers

1.  Chenab, Ravi, Beas
2.  Ravi, Beas, Suflej
3. Beas, Sutlej, Jhelum

4.  Rawvi, Chenab, Jhelum

Options:

E4E350106771. 1
E4E350106772 2
645350106772 o
45350106774 4

Question Number : 109 Question Id : 64635027202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ul & 1Y =] ofd SH3id’ & Sid HRA &1 fo5 Afeal IR 3 ifiar 872
1. =M, Idl, a9

2. JI9l S, gdad

3. SN, gddd, e
4. TSt =99, SdH

Options:

645350106771 1
645350106772 2
E4E3501067732 2
E4E350106774 4

Question Number : 110 Question Id : 64635027203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Anti-Satellite Missile Test conducted by India on 27" March 2019 is known as
1.  Mission Antarriksh
2. Mission Bharat
3.  Mission Shakti

4.  Mission A-SAT

Options:

645350106775 1
645350106776, 2
E4E350106777. 2
E4E35010677E 4

Question Number : 110 Question Id : 64635027203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. o wfdw
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Options:

E4E3501067 75 1
645350106776, 2
45350106777 5
645350106778 4

Question Number : 111 Question Id : 64635027204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II

List—I List-—II
(Writs) (Meanings)
(a)  Habeas corpus (1) To command
(b)  Mandamus (11) By what warrant
(¢c)  Certiorari (1)  Youshould have the body
(d)  Quo warranto (1v) Toinform

Choose the correct option from those given below :
L. (a)-); (b)—1); (e)-v); (d)-1)
2. (a)Hu); (b)-1); (e)-v); (d)~11)
3. (a-(u); (b)- (av); ()—); (d)—)
4. (a)-); (B)—1); (e)-(); (d)-(v)

Options:

E4E350106779 1
E4E350106720. 2
645350106781, o
6453501067382 4

Question Number : 111 Question Id : 64635027204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T [ @ gt — 11 § gafea sifen
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() (3reh)

() < yaie Q)  smeT
(b) TR i) frasfeRY
(¢  Jomw (i) 3O IR B UG BT
(@ SigER g=1 (iv) gfd &
fu 7y fawedi § 9 98! IR &1 99+ Difo :

L (@-w); (b)-); (¢)-v); (d)ii)
2. (a-); (0)-@); (e)~v); (d)-01)
3. (a-w); (b)- v); (- (D))
4. (@-w); (0)-); (c)-Gu); (d)-1v)

Options:

645350106779 1
E4E350106730. 2
45350106721 =2
645350106782 4

Question Number : 112 Question Id : 64635027205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List—II
(Systems) (Articles)
(a)  Electoral system (1) 243-243(0)
(b)  Services under the Unionand (1) 124-147
States
(¢)  Panchavats (m) 324-329

(d)  Judicial system at Unionlevel ~ (iv) 308-323
Choose the correct option from those given below :
L. (a)-{1); (b)-v); (c)-1); (d)-(11)
2. (@-w): (b)) (e)-av); (d)-(111)
3. (a)-m); (b)-Q); ()-(v); (A1)
4. (a)-1); (b)-); (c)-u); (d)-v)

Options:

645350106782 1
6453501067384 2
645350106785 o
645350106736, 4

Question Number : 112 Question 1d : 64635027205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o [ @ gt — 11 § gafea sifen

el 1 Tt — 11
CERD)) (3FDT)

(@) A ER i)  243-243(0)
(b) 9 3R Al & Siaid Farg (i)  124-147
() varEd (iii)  324-329
(d O TR | G Aaw (iv)  308-323

feq e fased H @ W5l IR BT 997 S :

L (@-m); (b)-Gv); (e)1); (d)-(1)
2. (@-u); (b)-@); (¢)-av); (d)-(m1)
3. (a)-(u); (b)- (); (¢)-v); (A1)
4. (a)-1); (b)), (0)-i1); (D)1v)

Options:

645350106783 1
E4E350106734 2
45350106785 =2
645350106756, 4

Question Number : 113 Question Id : 64635027206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following taxes are levied by the Union but are collected and appropriated
by the States?

(a) Stamp duties
(b} Excise dufies on medical and foilet materials
(c¢) Salestax
(d) Landrevenue
Select the correct answer from the given options :
1. (ayand(b) only
2.  (b)and(c) only
3. (a),(®)and(c)
4.  (c)and(d) only

Options:

645350106787 1
6463501067388 2
45350106729 =2
45350106730, 4

Question Number : 113 Question Id : 64635027206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &ad (a) 3R (b)
2. &ad (b) 3R (c)
3. (@), (®) MR (©
4. &9d (o) MR
Options:

645350106757, 1
64535010687 EE. 2
E4E3501087E9. =
EAEZ50106730. 4

Question Number : 114 Question Id : 64635027207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The total number of Mimsters including Prime Mimister and Deputy Prime Mimster

shall not exceed
1.  20% members of the Lok Sabha
2. 10% members of the Lok Sabha
3.  15% members of the Lok Sabha

4. 25% members of the Lok Sabha
Options:
£46350106791. 1
£46350106792. 2
£46350108793. 3
£46350106794. 4

Question Number : 114 Question 1d : 64635027207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350106731, 1
48350106732 2
645350106732 5
645350106794 4

Question Number : 115 Question Id : 64635027208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which case was it declared that the Preamble 1s NOT the part of the Constitution?
1. Kesavananda Bharati case
2. Maneka Gandhi case
3.  Vishakha case

4.  Berubarn case

Options:

645350106795 1
E4E350106796 2
45350106797 2
645350106798, 4

Question Number : 115 Question Id : 64635027208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g g A gg Fofg gy mn & e IRy &1 4rt A8 2
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2. HFo M &g
3. fowma g
4., Soan o9

Options:



EAE350106735. 1
EAEZ501087 36, 2
E4E3501068737. =
6453501067358, 4

Question Number : 116 Question Id : 64635027209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Madan Mohan Punchhi Commuission was appointed to study
1.  Centre-State Relations
2. State Reorgamsation
3. Panchayati Raj

4. Delimitation of Constituencies

Options:

645350106799 1
645350106800, 2
645350106801, =
48350106302 4

Question Number : 116 Question Id : 64635027209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

He HigT T SnT [ sremae & fae Hgaa gen?

1. S=-Ig S99y

2. A gEeA
3. OEmEd IS
4. fat= &= @1 ofeltas

Options:

45350106799 1
645350106800, 2
645350106801, =
645350106802 4

Question Number : 117 Question 1d : 64635027210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-I1 :

(a)
(b)
(c)
(d)

List-I List—II
(Authors) (Books)
Granville Austin (1)  The Government and Politics of India
Morris Jones (1) Some Charactenistics of Indian Constitution
M V Pylee (111) The Indian Constitution : Cornerstone of a Nafion
Ivor Jenmings (1v) Constitutional Government in India

Choose the correct option from those given below :

Options:

114
x.
5

4,

(a)-(11); (b)~(0); (e)-v); (A1)
(a)-(1); (b)—1v); (e)—(1); (d)—(iii)
(a)-(i1); (b)- (1); (e)—11); (d)—(v)
(a)-(iit); (b)—(i1); ()—(1); (d—(1v)

645350106503, 1
E4EZ50106504. 2
EAE3501065805. =
EAE350108506. 4

Question Number : 117 Question 1d : 64635027210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Tl [ ! gt - 11 | gAfera Sifore
al- 1 gl - 11

() (TET)
(a)  T=iaq Sffees (i) & Ta=Hc US Uiferfeed 3 sisan
by ARSI (i) U HIeciead 3 Sfea- dI-ucicay=
(¢)  UH. o U (i) g 3T PICIER: B 3 T
d)  omEER S (iv) PILIcgd Ta-He 3 3fea
& 710 fawey H A &1 IR &1 997 Hifeg :

L. (a)-(i); (b)-1); (e)-iv); (A1)
2. (a)-(); (b)-v); (e)-(); (d)1)
3. (a)-(u); (b)-); (e)1); (d)-(v)
4. (a)-(u); (b-); ()—D); (d)-av)

Options:

645350106803 1
48350106204 2
45350106805 =2
453501063806, 4

Question Number : 118 Question Id : 64635027211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Members of the Cabinet Mission Plan were :
1.  Lord Pethick—Lawrence, Sir Stafford Cripps and A. V. Alexander
2. Sir Stafford Cripps, A. V. Alexander and Lord Wavell
3.  Lord Pethick—Lawrence, A V Alexander and Lord Ripon

4. Sir Stafford Cripps, Lord Mountbatten and Lord Pethick—Lawrence

Options:

645350106807, 1
483501062808 2
45350106209 =2
645350106810, 4



Question Number : 118 Question Id : 64635027211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BiYe B are & o= &
. @S ie-aRg, W RS e ok U seeeist
2. WEHS e, T d Taeust AR als dad
3. @S uiYe-ane, U df. taees ok @S o
4, WRPE o, TS adcaeT oiR ate ofYw - ang

Options:

645350106807, 1
48350106208 2
45350106209 =2
645350106810, 4

Question Number : 119 Question Id : 64635027212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Supreme Court of India has the power to adjudicate disputes between the Union
and the States through

1.  Appellate Jurisdiction
2. Onginal Jurisdiction
3. Advisory Jurisdiction

4. Writ Junsdiction
Options:
646350106811, 1
£46350106812. 2
646350106813, 3
646350106814 4

Question Number : 119 Question Id : 64635027212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



YR &1 Jate TaTad &9 gR1 99 R Tt & A faret ot sifuf=fofa sar 22
1. S it
2. YRS sfeTian
3.  HaARHRI SifdwTim
4. o9 TR

Options:

E4E350108811. 1
45350106812 2
645350106812
645350106814 4

Question Number : 120 Question Id : 64635027213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following Commissions are statutory bodies?
(a) National Commuission for Scheduled Tribes
(b) National Commission for Human Rights
(¢) National Commission for Minorifies
(dy National Commission for Scheduled Castes
Select the correct answer from the given options :
(a) and (b)
2. (b),(c)and(d)

—

3. (a)and (d)
4. (b)and (¢)

Options:

48350106815 1
645350106816, 2
645350106817, 5
645350106818 4

Question Number : 120 Question Id : 64635027213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



P 3 B19-8 e e Fem 22
(a) ST SR ST ST
(b) TP AR ST
(¢) PN SEUHTIS AN
(d) TP S S STarT

T 0 RAee # & 98} IR &1 997 SR ;
1. (a) 3R (b)
2. (b),(c) 3R ()
3. () 3R (@)
4. (b) 3R ()

Options:

645350106815 1
48350106816 2
45350106817 2
645350106818 4

Question Number : 121 Question Id : 64635027214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The fundamental difference between institutionalism and new institutionalism would
primarily be located on the principle of

5, deduction
2. induction

3.  expenmentation

4. 1investigation

Options:

483501062819 1
453501063820, 2
645350106821, 5
645350106822 4

Question Number : 121 Question Id : 64635027214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



YRITITG qYT F9-HRTaTG & He Hifers 3o &1 gera: {9 Rigia w anutia fear o S
1

1. e
2. SMHATHS®
3. UANHS

4. AISUTEHS
Options:

6453501065149, 1
453501068820, 2
E4E350108521. =
EAEZS0106522. 4

Question Number : 122 Question Id : 64635027215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II :

List—I List-II
(Authors) (Terms)
(a) David Easton (1)  Development Syndrome
(b) Lucian Pve (1)  Political Man
(¢)  Samuel P. Huntington (1) Black Box
(d)  Seymour Martin Lipset (iv) Waves of Democratization

Choose the correct option from those given below :
L. (a)-Qii); (b)—1); (e)-(1); (d)-(v)
2. (a)-): (b)-i); (c)—-v); (d)—ii)
3. (@), (b)-1); (©)-1v); (d)—{11)
4. (a)-(11); (b)-i1); (e)-(v); (d)—1)
Options:
46350106823, 1
46350106824, 2

EAE3501068825. =
4350108826, 4



Question Number : 122 Question Id : 64635027215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

- 1 1 gEt - 11 9 gAfed S :

- 1 Tt - 11
GicED (Urom)

(&) SR TEA 0  fowREm

b gREFTE (i)  ToFifa® AFE

(¢)  Sguad gfces (i) A S5

(d) IR AN fome (iv) TOHdAS B A
fau Tt fawea | | 931 I 31 907 S :

1. (a)yHi); (b)-); ()—1); (d)-Gv)
2. (a1 (b-ib); (e)—v); (D)
3. (), (b)-@); (©)—iv); (D)D)
4. (a)-(Gi);, (b)iii); (e)-Gv); (1)

Options:

6453501063822 1
483501063824 2
645350106825 5
45350106826, 4

Question Number : 123 Question Id : 64635027216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A): Nation and nationalism can variedly be conceptualised and defined but
without being generalized in common theorization

Reason(R):  There can be discourses, not common theories, on nation and
nationalism.

On the basic of the two statements choose the correct answer from the optionsgiven
below :

1.  Both (A) and (R) are true and (R)) 1s the correct explanation of (A)

2 Both (A) and (R) and true, but (R) 1s not the correct explanation of (A).
3. (A)istrue but (R)1s false

4 (A)1s false, but (R) 1s true

Options:

645350106827 1
645350106828 2
483501063829 2
45350106820 4

Question Number : 123 Question Id : 64635027216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 G ou= Ru e 8 i @ e affeu (A) B SIRGEUaH (R) B

DY (A) : TP 3R AParE 3 [y veR I TRUIT g8 Jpicta o fosar o goar 8
¢ U G 1eu R GHFISd To! f[dl ol G|

TER) . TF R pare R w81 Sod ¢ g w9 Raia 7
I TFl BYAl & YR U 19 fGU T fdsedl § 9 98t I g
L (A) SR (R) THITE T (R), (A) Pt Ut e 8
2. () IR ®) TF T E WYR), (A) P FE e T E
3. (A) W8T RYR) T8
4. (A) THqE UTG(R) TE

Options:



EAE350106827. 1
EAEZ50108828. 2
645350108829, =
6453501068520, 4

Question Number : 124 Question Id : 64635027217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘New Democracy’ as hegemony of the workers, peasants and other marzinalized
sections of the society 1s associated with which one of the following?

L. Subaltern School

.5 Marxast School
3. Post-Behavioural School
4. Post-Modernist School

Options:

645350106831, 1
6453501063832 2
4835010628322 2
453501063824 4

Question Number : 124 Question Id : 64635027217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

%r?ﬁﬁ‘ﬂaﬁqﬁwaa%ﬂmﬁﬁmmﬂm'ﬁ-@ﬁ’ﬁ',%ﬁﬁﬁaﬁ@mﬂ’aﬁﬁ

1. IuIisd Bd

2. WU %% d

3. GWR-JGgRdAR] @
4.  TR-3MYfe @

Options:

6453501063831 1
483501062832 2
45350106822 5
645350106824 4

Question Number : 125 Question Id : 64635027218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In Samuel P Huntington’s analysis, India 1s placed in which one of the ‘waves of
democratization’?

1. First wave
2. Second wave
3.  Third wave

4. Fourth wave
Options:
646350106835, 1
646350106836, 2
£46350106837. 3
546350106838 4

Question Number : 125 Question Id : 64635027218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Iqud Ut §fe & ‘Aiedie $ e ey § 4Rd Sl fRa g7

1. UYH R
2. fedlmEsR
3. gdlaEsg
4, TgdeER

Options:

645350106835 1
645350106836 2
645350106837 2
483501063328 4

Question Number : 126 Question Id : 64635027219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Happiness index 1s the creation of which one of the following countries?

i Bhutan
2. Nepal
& K

4, Switzerland
Options:



E4E3501068539. 1
EAE350108540. 2
6453501068841, =
E45350106854Z. 4

Question Number : 126 Question Id : 64635027219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TSl YEoi® - | 9 e o Bt gor 87

1. Y™
2. Aurd
3. 3@

4. fEcods

Options:
45350106539, 1

EAEZ50108540. 2
E4E3501065841. =
EAE3501068584Z. 4

Question Number : 127 Question Id : 64635027220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who equated revolution with “fever’?
1.  Theda Skocpol
2. Barrington Moore
3.  Crane Brinton

4. Francine R Frankel

Options:

45350106543, 1
645350106844 2
645350106845 5
645350106346, 4

Question Number : 127 Question Id : 64635027220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Dl &t 'SoR I = g 12
1. UST iU
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Options:

645350106342 1
645350106844 2
645350106845 =
645350106346, 4

Question Number : 128 Question 1d : 64635027221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Stasiology is the study of
I8 statistics
Z. elections
3.  political parties
4, movements
Options:
£46350106847. 1
£48350106848. 2

6453501065849, =
45350108350, 4

Question Number : 128 Question Id : 64635027221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R 31T g
1. gt &
2. FAES
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4. Mg @1

Options:



E4E3501068847. 1
EAE350108548. 2
6453501085849, =
6453501068550, 4

Question Number : 129 Question Id : 64635027222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an incorrect pair?

1. Melting pot : USA
2. Boiling pot ; Israel
3.  Salad bowl ; India
4. Frut bowl ; UK

Options:

E4E3501083851. 1
45350108852 2
645350106852 o
645350106854 4

Question Number : 129 Question Id : 64635027222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o # 3 S1-91 SRITTT I 27
1. YHIAEYC :  FUAT
2. WYFEC . EoRIEd
3. Helg sl . HRd
4.  HdHCR . g®b.
Options:

E4E35010685851. 1
EAE350108852. 2
6453501065853, 2
6453501068554, 4

Question Number : 130 Question Id : 64635027223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Circulation of elites” most closely refers to which one of the following?
1. Rotation of elites
2. Replacement of elites
3.  Retention of elites

4.  Restoration of elites

Options:

645350106855 1
645350106856 2
645350106857 =
645350106358 4

Question Number : 130 Question 1d : 64635027223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
it # uiveror g § 9 fred Focar § Safta 32

3TN BT AT

2. SHfHeH @1 vidRmH

3. 3fUSH &1 ufdemor
4.  IHNOH BT G

[—

Options:

645350106855 1
645350106856, 2
645350106857 o
646350106358 4

Question Number : 131 Question Id : 64635027224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : There 1s no 1deal number of persons a supervisor can supervise.

Reason (R):  Span of control varies depending on factors like function time, space
and delegation of authority.

On the basic of the two statements choose the correct answer from the codes given
below :

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2.  Both(A)and (R) are true, but (R) 1s not the correct explanation of (A).
3. (A)is true but (R)1s false

4.  (A)1s false, but (R) 1s true
Options:
646350106859, 1
646350106860, 2
646350106361, 3
646350106362, 4

Question Number : 131 Question Id : 64635027224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

2 gl oy feu T € oV | te iy (A) € iR @@ dd (R) 21
AftBYT (A) © Ul B vdden & o sufadl &t o8 omexl gem e € |

& (R) . B, GG, W AR T TAESE o SRS 31 URgdaadl & SR
fE o1 &7 ufiafda gran el

TI9gE TF Y & YR WX 14 U U fawedt B 9 9 SR g
. (A) ARE) SFFE I R), (A) B Tt g
2. (A) 3R (R) TF T E WY R), (A) DI IR AT 8
3. (A) W WRYR) T
4. (A THAE Rg®R) TEE

Options:
E4E3501083859 1
E4E3501 06560, 2



EAEZ50106561. =
EAE3501068562. 4

Question Number : 132 Question Id : 64635027225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following predicted that bureaucracy is likely to go out of use in the
wake of new social systems better suited to the 20™ century demands of
industrialization?

1.  Warren Bennis
2. Max Weber
3 Peter Blau

4. Martin Albrow

Options:

645350106863 1
48350106364 2
45350106865 =2
645350106366, 4

Question Number : 132 Question Id : 64635027225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

70 ¥ o= g8 w@igas @ & 204t warsdt 7 shefiatow ot 4 & 3Eey 7d
IS SaRITal B Faraaas el $uged g Sma?

1.  arRAEEY
2. A AR
3. dlRss
4. IR Tl

Options:

E4E350106563. 1
645350106864 2
645350106865 o
645350106866, 4

Question Number : 133 Question Id : 64635027226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following theories 1s known as traditional theory?
1.  Organisation theory
2. Human relations theory
3. Scientific management theory

4. Bureaucratic theory

Options:

645350106867, 1
645350106868, 2
46350106369 =2
45350108870 4

Question Number : 133 Question Id : 64635027226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o A | P91 Rigia e Rigid sedmr 82
1. oA g
2. H¥d 994 Rgia
3. a9ie wEyE Rigi
4. o e

Options:

645350106867, 1
E4E35010686E 2
45350106869 =2
45350106870, 4

Question Number : 134 Question Id : 64635027227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-I1 :

List-I List-I1
( Stages in the evolution of public ( Period )
administration )
(a) Crisis of identity (1) 1938-1947
(b) Era of challenge (i1) 1927-1937
(c) Principles of administration (1i1) 18871926

(d) Politics-administration dichotomy (1v) 19481970

Choose the correct option from those given below :
1. (a)-(1); (b)~1); (¢)-(1); (d)-(v)
2. (a)(iv); (b)-); (e)-(1i); (d)—(1i1)
3. (@), (b)-(); (e)-1); (d)—(ii1)
4. (@), (b)) (e)-(in); (d)—1)

Options:

645350106871 1
646350106872 2
45350106872 2
645350106874 4

Question Number : 134 Question Id : 64635027227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Teil-1 & gei-11 9 gafed sifon ;

gal- 1 el - 11
(@I TR & HHRSE & TR (3rafer)
(a) 3Ry @1 Toe i)  1938-1947
(b)y AR B (i)  1927-1937
(¢)  UeH & g (iii)  1887-1926
(d) o ITd- TR fefaHTer (iv)  1948-1970
fu Ty faeed H @ 9l ST &1 997 S :

L (a)-); (B)-); (o)), (d)-Gv)
2. (), (0)-); (e)-1); (d)—m)
3. (a-av); (0)-); (0)-); (D)
4. (a)-(v); (b)-(iii); (c)-(i); (d)—1)

Options:

45350108871 1
45350106872 2
645350106872
645350106874 4

Question Number : 135 Question Id : 64635027228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who among the following makes a distinction between public admimstration and
private administration?

(a) Paul Appleby
(b) L.D. White
(¢) Herbert Simon
(d) Sir Josia Stamp
Select the correct answer from the given option :
1. (a)and (b)only
2. (b)and (¢)only
3. (a), (¢) and (d) only
4. (a), (b), (c)and (d)

Options:

45350106875 1
645350106876 2
645350106877 2
645350106878 4

Question Number : 135 Question 1d : 64635027228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) Ui gt

(b) Ud. 3l B

() BC WA

(d) RS ey

feu o faweui ° 9 I I %1997 Do ;
1. ad (a) AR (b)
2. Fad (b) MR ()

3. 3 (a), () AR (d)
4. (a), (b), (c) AR (d)

Options:

645350106875 1
645350106876, 2
646350106877 2
E4E35010687E 4

Question Number : 136 Question Id : 64635027229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following summarizes the themes of New Public Administration under
five heads — relevance, values, social equity, change and client-focus?

1.  Frank Marini
2. D.Waldo
3. F.W. Taylor

4. M. P. Follett

Options:

645350106879 1
645350106880, 2
646350106881, 2
4835010638582 4

Question Number : 136 Question Id : 64635027229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. %% A

2. A

3. Ul &Y, R

4.  UH Ul Bide
Options:

EAE3501068573. 1
EAEZ501068880. 2
645350108881, =
6453501068882, 4

Question Number : 137 Question Id : 64635027230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are the main features of scientific management?

(a)

(b)
(c)
(d)

A single administrative science whose principles were applicable not only
to business but also to government, religious and other organisations

Functional foremanship
Separation of planning and execution

Differential piecework plan

Select the most suitable answer from the given options :

k%

2.

3.

4.

Options:

(b}, (¢) and (d)
(a), (b) and {d)

(a), (b), (¢) and (d)
(b) and (d)

6453501065583, 1
EAEZ501065584. 2
EAEZ50106885. =
EAE350108856. 4



Question Number : 137 Question Id : 64635027230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFrofefea & 3 dufe vey 31 gor igvand a 82
(a) Uod yERe AT orae Rigid 7 $9d oauR sfes TR, ¥ 3k 3
o+ W H ar e 8

(b) FEES BRETRY
() IS febaraa 1 g
(d) RYEs TUsT: FRAGH
o o Rieredt § @ waiive Suge e o1 907 S -
1. (b), () 3R (d)
2. (a), (b) ¥R ()
3. (a), (b), (0) AR (d)
4. (b) ¥R (d)

Options:

645350106882 1
6453501068584 2
6463501063885 2
483501062856 4

Question Number : 138 Question Id : 64635027231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The book, The Intellectual Crisis in American Public Administration deals with

1.  public choice approach
2. new public administration
3.  ecological approach

4.  decision-making approach

Options:

E4E3501083887. 1
E4E35010688E 2
645350106889 o
45350106890, 4



Question Number : 138 Question Id : 64635027231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T ST IR 37 MieH ufsie YsfFRy T g fad gefiq 27
1. @ 997 3UrH

2. 9w T

3. URfRufdst Iur
4.  fumg-FEtr gurm

Options:

645350106887, 1
645350106888 2
6463501063589 =2
45350108290, 4

Question Number : 139 Question Id : 64635027232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Internal commumnication can be

1. upward only
2.  downward only
3.  upward and downward only

4. upward, downward and across

Options:

45350106591, 1
645350106892 2
645350106892
645350106394 4

Question Number : 139 Question Id : 64635027232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



3iafe TN g Hend ¢
1. ad S
2. ad SMYFH
3. &dd SEH T HYITH
4, L 3T Ud 3R UR

Options:

648350108391 1
45350108892 2
645350106892
645350106894 4

Question Number : 140 Question Id : 64635027233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following ways are suggested by Mary Parker Follett for resolving
conflict in an orgamzation?

(a) Domination
(b) Compromise
(¢) Surrender
(d) Integration
Select the most suitable answer from the options given below :
1. (a), (b)and(c)
2. (a),(b)and(d)
3.  (b),(c)and(d)
4. (a), (b), (¢) and (d)

Options:

645350106895 1
645350106896, 2
645350106837 2
48350106398 4

Question Number : 140 Question Id : 64635027233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T B S ga1yE & g B0 o wiae 2 Py Y oS ol gand &
(a) amETa
(b) HHAT

(¢c) JHYO
(d) TBH
feu mu fawed 7 | Falits Iuged fdwe giu -

L (a), () 3R ()
2. (a), (b) 3R ()
3. (D). () 3R (@)
4. (a), (b), (o) M (d)

Options:

453501068595, 1
645350106896, 2
645350106837, =
645350106398, 4

Question Number : 141 Question 1d : 64635027234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following are the detrimental effects of corruption on development?
(a) Lower level of social services
(b) Lower economic growth
(¢) Higher tax burden and fewer services
(d) Lower opportunities for farmers to sell their product
Select the correct answer from the options given below :
1. (a)and(b)only
2. (b) and (d) only
3. (b).(c)and(d)
4. (a), (b), (c)and (d)

Options:

45350106599, 1
645350106900, 2
645350106901, =
6453501063902, 4

Question Number : 141 Question 1d : 64635027234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



o & 3 o™ R YPER & ToRES TUE HIF-51F 3 82
(a) froeda g Jart
(b e enfifes qfe;
(¢) T & g 3R Hivta Jarg
(d) FIDI Bl FTH IUGH DI (HDH! S HH AW

A= T o fAe el A 9 T8t IR &1 99 Sifeil ;
1. ad (a) 3R (b)
2. Fad (b) AR (d)

3. (b),(c) 3R ()
4. (), (b), (c) W (d)

Options:

45350106599, 1
645350106900, 2
645350106901, =
6453501063902, 4

Question Number : 142 Question 1d : 64635027235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange the introduction of the following development programmes in an ascending
order :

(a) Pradhan Mantri Gram Sadak Yojana
(b) Indira Awas Y ojana
(¢) Deen Dayal Upadhyay Gram Jyoti Yojana
(dy Atal Pension Yojana
Select the correct answer from the codes given below :
. (b), (@), (d)and (c)
2. (a),(b),(c)and (d)
3. (b)), (c)and (d)
4. (a), (b),(d) and (c)

Options:

453501065903, 1
645350106904 2
645350106905 =
645350106906, 4

Question Number : 142 Question 1d : 64635027235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



froferad Aeme sdsal o sRiet H1 8 aieyd Hifen ;
(a) VYHHEH TH 98 o1

(b) 3T SmaT Ao
(¢) TN TuTd SUTHTd UH AITd Aol
(d) 3fcd U= droF

A= T o e el 7 9 I8 IR &1 99 Sl -

L. (b), (@), (d 3R ()
2. (@), (b),(0) M (d)
3. (), @), () 3R @
4. (@), (1), (D MR ()

Options:

453501065903, 1
645350106904 2
645350106905 =
645350106906, 4

Question Number : 143 Question 1d : 64635027236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following traits have been introduced by the right to information in the
politico-adminstrative system?

(a) Caution
(by Care
() Vigilance
(d) Red-tapism
Select the most suitable answer from the options given below :
L. (a), (b), (¢)and (d)
2. (a), (b)and(c)
3. (b),(c)and(d)
4. (b)and (d)

Options:

645350106307 1
483501063908 2
45350106909 =2
645350106910, 4

Question Number : 143 Question Id : 64635027236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I & SR gRI Ieifae -y o § g 8 ¥ foq Rfvast @ ury fean
T

() U
(b) <E@I™@
() Fawd
(d) ara-wiaRTe!

4 fou U et § | 9aiiie Iuged I &1 997 i -
L. (a), (b), (o) 3R (d)
2. (a), (®) 3R (o)
3. (b),(c) 3R ()
4. (b) 3R (d)

Options:

645350106307, 1
645350106908 2
648350106909 =2
45350106310, 4

Question Number : 144 Question Id : 64635027237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following committees in chronological order :
(a) Satish Chandra Committee
(b) Hota Committee
(¢y Kothan Commuttee

(d) Yoginder K. Alagh Committee
Select the correct answer from the options given below :
1. (a), (b),(c)and (d)
2. (0),(a),(d)and (b)
3. (b),(d), (a)and (c)

4. (d),(c), (a) and (b)

Options:

645350106911 1
648350106912 2
45350106912 =2
645350106914 4

Question Number : 144 Question Id : 64635027237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g Sftfoat ot wrargsa § safRa sifen

(a) Hdw 9% 9mfd
(b) T At
(c) Ion Tiafg

(d) I . 3ag Imfd
= feu o fAe el A 9 I8t IR &1 994 Sifel -
N ONONOEICY
2. (0), (@), @ IR (b)
3. (b),(d), (@) MR (c)
4. (d), (), (a) R (b)

Options:

6453501065911, 1
453501068912 2
645350106912 5
645350106914 4

Question Number : 145 Question Id : 64635027238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Under the Lokpal and Lokayukta Act a person can be appointed Chairperson of Lokpal
if he or she

(a) 1s or has been the Chief Justice of India

(b) 1s or has been a Judge of the Supreme Court

(¢) 1s or has been an eminent person

(d) 1is or has been an administrator with at least 10 years of experience
Select the most suitable answer from the options given below :

1. (a), (b), (¢)and (d)

2. (a),(b)and(d)

3. (a), (b)and(c)

4. (b),{c)and (d)

Options:

645350106915 1
645350106916 2
45350106917 2
645350106913 4

Question Number : 145 Question Id : 64635027238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AeuTd R erged g & sl ot sofd &) dieura o1 s Rgea far o
Tl g, afe 98

(a) HRd 1 I A E1 3t T 91 8

(b) T=IaH e BT =T B 3r/ar I8 Iw1 B

(¢) WiAEd e Bl 3rual T @I 8l

(d) 10 TP HT ITeN TS o 3YaT I8 g1 8l
i feu T fas eul § 9 It I &1 99 Do :

L (@), (), () 3R @

2. (a), ()R (@)

3. (a), ®) IR ()

4. (b),(c) IR (d)

Options:

645350106915 1
45350106916, 2
45350106917, 5
645350106918 4

Question Number : 146 Question Id : 64635027239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s the Nodal Ministry for the National Human Rights
Commussion?

1.  Minstry of Human Resource Development
2. Mimnstry of Social Justice and Empowerment
3.  Mimstry of Home Affairs

4. Mimstry of Personnel, Public Grievances and Pensions

Options:

645350106919 1
645350106920, 2
648350106921, 2
45350108922 4



Question Number : 146 Question Id : 64635027239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e & B S1F-T1 TP T SR SR @1 e W 87
1. HFd G e JEed
2. IS UE S BT HAad
3. B e
4. oI, die Riemd td U= Harad

Options:

48350106919 1
453501068920, 2
645350106921, 5
645350106922 4

Question Number : 147 Question Id : 64635027240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following services is not mentioned in the Constitution?
1. Indian Administrative Service (IAS)
2. Indian Police Service (IPS)
3.  Indian Foreign Service (IFS)

4.  Indian Judicial Service (IJS)
Options:
646350106923, 1
646350106924, 2
646350106925, 3
646350106926. 4

Question Number : 147 Question 1d : 64635027240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Afqy™ | Fa ° 9 -3 gar affa 781 82
1. HR YRS 9t (4 9 9)
2. HIIT g AT (WL G, 9)
3. HRAE f[agergar (1 3. 9)
4. g a1ide Jar (1. 91 1)

Options:

645350106923 1
645350106924 2
648350106925 =2
45350106928, 4

Question Number : 148 Question Id : 64635027241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Commissions/Committees has recommended the creation of a
District Council 1n every district with representatives from both urban and rural areas?

1. Balwant Rai Mehta Commuittee
2. L. M. Singhvi Committee
3.  Ashok Mehta Committee

4, Second Admmstrative Reforms Commussion

Options:

645350106927, 1
645350106928 2
645350106929 2
645350106930, 4

Question Number : 148 Question 1d : 64635027241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o & 2 foog smam/afita = v fom | =g o gt nfaf=iie & fog foran ofeg &
ol &l SR DI?

1. 9ddd g degd 9mfa

2. U4 UH Hudl giEfa

3. 32N Hed giHfd

4. fadia e guR emar

Options:
43501065927, 1

EAE3S010832E. 2
EAE35010683929. =
EAEZ501083930. 4

Question Number : 149 Question Id : 64635027242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following appointments are made by the President of India by warrant
under his sign and seal?

(a) Judges of the Supreme Court of India
(b) Governor of a State
(¢)  Chairman of the Union Public Service Commission
(d) Attorney-General of India
Select the correct answer from the codes given below :
1. (), (b),(c)and (d)
2. (a), (b)and(c)
3. (a),(b)and(d)
4. (a)and (b)

Options:

645350106931 1
648350106932 2
45350106922 =2
645350106924 4

Question Number : 149 Question Id : 64635027242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

g | -3 fgfemal g & Tpufd R aRe, S RIER U9 HeR Sfed 3 Skl 82
(a) HRA P I=TH TR & T
(b) 9 & T=qUTE
(c) U e Jal 3N & 3iemel
(d) HRd S AEFImETS!
- QU U Fe 1 I&l IO &1 999 B
L (), (b), () 3R (d)
A ONOEIHC
3. (a), (b) 3R (@)

4. (a) 3R (b)

Options:

645350106921 1
645350106932 2
6453501069332 2
48350106924 4

Question Number : 150 Question Id : 64635027243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

NITI Aayog 1s
1. astaff agency
2. aline agency
3.  anauxiliary agency

4.  neither staff nor line agency

Options:
45350106935, 1

EAEZ501063936. 2
6453501085937, =
6453501085938, 4

Question Number : 150 Question Id : 64635027243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. FA WS AR T T T (@5 TS

Options:

6453501065935 1
48350106936, 2
45350106927, 5
645350106928 4



